| Snake & Ladder | |

. 1THEMATICS

100 | 99 | 98 | 97 | 96 | 95 | 94 | 93 | 92 | 91
2% 82
81 |82 |83 |84 |85 |86 | 87 (88 | 89 | 90
g P : Standard 6
80 |79 |78 |77 |76 |75 |74 (73 |72 | 71 /
42x1° (S emEStel' II)
61 | 62 | 63 |64 |65 |66 | 67 |68 |69 | 70 |
24x3 52x3 '
60 |59 | 58 |57 |56 |55 |54 [53 |52 |51
22.‘&7 43
41 |42 | 43 |44 | 45 | 46 | 47 | 48 | 49 | 50
34 32x7
40 | 39 | 38 |37 |36 |35 |34 |33 | 32 | 31
24x5 42x2
21 |22 | 23 |24 |25 |26 | 27 |28 |29 | 30
72x2 4%x5
20 |19 | 18 |17 |16 |15 | 14 (13 |12 | 11
52x2 72 52
4 5 6 7 8 9 10
61

How to play Snake and Ladders game :

U= Start the game from 1. Proceed your turn alternately by
tossing a die of Snake and Laddars.

BSF" When you reach in the square where exponent form is
written there, find its simple form to get value and then
reach to that square having that simplified value.

I=" When any reaches fo the square having 100, then start
the game again.
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Different currencies of the world !

Country

Currency

Country

Currency

| N N |
[ N ]
L N N
&
@ (4)
[ N N ]
® 0
0@
(D) (E)

(C)

India
Shrilanka
Pakistan
China
Bangladesh
Bhutan
U.S.A.
Nepal
Japan
Canada
Australia
United Kingdom
Hongkong
Vietnam
Spain
Greece
Newzeland
France
Denmark
Belgium
Brazil

Polant

Rupee
Shrilankan Rupee
Pakistan Rupee
Yuan

Taka

Indian Rupee
Dollar

Nepalian Rupee
Yen

Canadian Dollar
Dollar

Pound Stearling
Hongkong Dollar
Dong

Peseta

Drakma
Newzeland Dollar
Frank

Cron

Belgium Frank
Cruziro

Ziloti

Philippinece
Netharland
Switzerland
Russia
Iceland
Burma

Iran

Irak

Izarial

Italy
Malesiya
Norve
Saudi Arabia
Moresius
Mexico
Egypt
Portugal
Nigeria
North/South Koria
Yugoslavia
Indonesia

Figi

Peso

Gildar

Swiz Frank
Rubal

Crona

Kayat

Riyal

Iraki Dinar
Izarialan Pound
Lira

Ringit

Cron

Riyal

Moresius Rupee
Peso

Egyptian Pound
Escudo

Naira

Won

Dinar

Rupiyah

Figian Dollar

(Reference-book : ‘“Vishwa ni Ashmita’, Part 2, Page 313 to 315)
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Standard 6

(Semester 11 )

India is my country.

All Indians are my brothers and sisters.

I love my country and I am proud of its rich and varied
heritage.

I shall always strive to be worthy of it.

1 shall respect my parents, teachers and all my elders and
treat everyone with courtesy.

I pledge my devotion to my country and its people.

My happiness lies in their well-being and prosperity.
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PREFACE

The National Curriculum Framework (NCF)} 2005
and the Right to Education Act (RTE) 2009 recommends
connecting knowledge that is provided in school to the
life outside the school. This principle marks a departure
from the legacy of book is learning which continues to
shape our education system and is creating removes a
huge gap between the school, home and community,

The syllabi and textbook developed on the basis of
above principle signify an attempt to implement it with a
considerable change in the textbooks, teaching-learning
methods, approaches etc. Such textbooks will provide
the scope to the students to learn individually, in pair, in
group and as a whole class and provide self-learning,
improve the application and consolidation abilities of the
children. In such a scenario, the teacher will be just an
initiator, facilitator and guide and will create learner
dominant classes.

During the process of designing and developing
the textbooks, the core group personnel coordinators,
writers and reviewers got a lot of inspiration and
motivation from the Chief Secretary of Elementary
Education.

Also, the guidance from IGNUS-erg and
co-operation of UNICEF was easily and continuously
available to the group during the entire process of
developing the textbooks. After implementing the
textbooks as a part of the pilot study, due efferts were
done to make it faultless. Now, it is in the hands of the
users and beneficiaries.

GCERT welcomes constructive and creative
comments and suggestions which will be useful to
undertake further revision and refinement.

M, T. Shah H. K. Patel cas
Director Director
Gujarat Council of Educational Gujarat State Board of
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FUNDAMENTAL DUTIES

It shall be the duty of every citizen of India :

(a) to abide by the Constitution and respect its ideals and
institutions, the National Flag and the National Anthem,;

(b) to cherish and follow the noble ideals which inspired
our national struggle for freedom,;

(c) to uphold and protect the sovereignty, unity and integrity of
India;

(d) to defend the country and render national service when
called upon to do so;

(e) to promote harmony and the spirit of common
brotherhood amongst all the people of India transcending
religious, linguistic and regional or sectional diversities;
to renounce practices derogatory to the dignity of
wormen;

(f) to value and preserve the rich heritage or our composite
culture;

(g) to protect and improve the natural environment including
forests, lakes, rivers and wild life, and to have compassion
for living creatures;

(h) to develop the scientific temper, humanism and the spirit of
inquiry and reform;

(i) to safeguard public property and to abjure violence;

() to strive towards excellence in all spheres of individual
and collective activity so that the nation constantly rises to
higher levels of endeavour and achievement.
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Integers

¢ Let us Remember :

[1] Fill up the following table as per instructions :

W

Across Clue | Down Clue
(A) First natural number. (A) Least natural no. of two digits.
(B) Least whole number. (B) Neutral number for addition.
(C) The largest whole number of
one digit. ©) X3=3%X6
E) 0+ = 25 D (x3))x60=______
F» 1x =50 (BE) 4x( + 17) =
(G) (18 +20) + 30 = (4x20)+@x17)
18 + (20 + ) (F) An odd number on a numberline
H) 12 x (7 x ) = such that it is left side of 7 and right
(12 x7) x 20 | side of 3.

[2] Ilustrate 0, 2, 6 and 9 on a numberline.

TEDNE SN @) W
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e Let us Learn New :

e Understanding of negative integers and plotting of integers on a numberline.

% >
&
4

v

r 3

0 1 2 3

5 6 7 8 9

Here, 0 to 9 numbers are plotted on a numberline. At number 4 there is a cartoon.
(1) Cartoon moves one unit left from 4, where does itreach ? (4 — 1 =
) Cartoon moves one unit left from 3, where does it reach ? (3 — 1=

)
(2 )
(3) It moves one unit left from 2, where does it reach ? (2 — 1 = )
(4) Now, it moves one unit left from 1, where does it reach ? (1 — 1 = )
(5

) Now, cartoon moves one unit left from 0, where does it reach ?
Alas ! You feel that there is no number on left side of 0. But friends, its not like
this ! When we show numbers on right side of zero on a numberline, similarly there

are number on left side of zeros.

S)EH E)E ) o1 2 3 4 5

v

H

Thus, (—1) is less than 0. Similarly, when we move left side, we get numbers like
(=2), (-=3), (—4).... . Numbers bigger than zero like 1, 2, 3,... are called positive integers.
Same way, number less than zero like (—1), (—2), (=3), (—4), (=5),... are called negative

integers. To show negative integers ‘— (negative) sign is placed before them.

DN PN @
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® Negative integers are less than 0, so they are plotted on left side of zero at
equal distance like, (—1), (-2), (-3),....

e Integers includes positive integers, zero and negative integers. It is shown

on numberline as below :

NEEH S EAHEGEED 601 2 3 45 607

—® & & & . 4 L & & & & & —>

o Negative T Positive
integers  Zero integers

e 0 is neither positive nor negative integer.

e Integers are infinite.

Mustration 1 : Represent (—5) and 4 on a numberline.
Solution :
e First draw a line and decide the points on it at equal distance.

e Show 0 at mid part of a line. Show negative integers on left side of 0 and

positive integers on right side of 0.

e Now, draw circle showing (—5) and 4.

v

& o —— = = = = & = ———=a
B EHEGESEn o0 1 2 3 4

W‘O"\ <D
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Mlustration 2 : Represent 3 and (—6) on a numberline.

B — i —— e —— —— 2 = 5 >
DS HEEEEH 601 2 3 4 5 6007

IMustration 3 : Represent 4, (—1) and (—3) on a numberline.

i

& & = e % . o = = 2 = B = s >
H B AHESEED 61 2 4

G ) Practice 1

1. Fill in the blanks to make the statement correct :

(1) Negative integers are at side of 0 on numberline.

(2) Positive integers are at side of 0 on numberline.

(3) is neither positive integer nor negative integer.

(4) Integers includes positive integers, zero and integers.

2. Show the following numbers on a numberline :
(1) 0,3 (2) 4,6, (-6)

e Order of integers with the help of numberline :

As we know that out of any two numbers on a numberline the number, which is at
left side is smaller number and the number, which is at right side is bigger number.

DN SN @) W D
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e Answer the following on the basis of numberline :

(1) Positive integers are at which side of zero ?

(2) Negative integers are at which side of zero ?

(3) Positive integers are at which side of negative integers ?

Thus, we said that zero is bigger than negative integers. Thus, positive integers are

bigger than negative integers. As we move on left side on numberline, then we get

smaller numbers. Similarly, as we move on right side, then we get bigger numbers.

IMlustration 4 : On the basis of given numberline answer the following questions :

. o

"3 o & & & s & % " < & =

B EDEHEAHESESE 01 2 3 4005

v

(1) Arrange in ascending order : 0, (-2), 3, (-5)

Solution :

e Plot 0, (—2), 3, (-5) on a numberline.

l

«—e 3 &—— 8 e— B —8— 33— —@—e —>
B DS HGES)ESED 01 2 3 4005

e Now, write the numbers plotted from left side to right side in correct order :
(_5)! (_2)’ 0! 3

Ascending order = (-5), (-2), 0, 3

W‘O"‘ <D
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(2) Arrange in descending order : 2, {(—1), (-3), 4
Solution :

e Plot 2, (-1), (-3) and 4 on a numbetline.

v

— o 2 = 2 8 £ & = l &
2

&
DO HEEDE) 0] 4

3
e Now, write numbers plotted from right side to left side in correct order :
4; 2; (_1); (_3)-
Descending order : = 4, 2, (—1), (=3)
(3) Write all the integers between (—3) and 4.

Solution :

*——= @ @ & & & 4 & @ @ s e & >

6 D) 0 1 2 3 4 5 6 7

Integers lie between (—3) and 4 are (-2), (-1), 0, 1, 2, 3.

Mlustration 5 : Fill in the blanks by using appropriate sign of < and > :

1) (—4) .5 (=) 2) 4.2. (-5 3) (-2).2.(3)

@ 0.5.3 G -1D.5.0 6 (-6).5.(-2)
Mlustration 6 : Write the appropriate number in the following blanks :

(1) 4 <.3. 2 .. <2 3 4.5,

Game (1) : Draw a numberline on a playground. Plot numbers from (—20)to 20.

Ask any four students to come forward.
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e Teacher will give one-one integer to each of the four students from (—20) to 20
integers.

e Teacher will tell all the four students to stand at their respective place on
numberline.

e Fifth student will tell ascending or descending order of four integers
according to the place of four students.

Game (2) :
® Teacher says any two integers.

e Two students stands on a numberline according to the integers given by the
teacher.
e Third student will say integers falls in between the two students.

e Any positive integers is bigger than negative integers.
Zero is bigger number than negative integers and smaller number than
positive integers.

Practice 2

1. Fill in the blanks to make the statement correet :

(1) is an integer between (—1) and 1.

(2) On a numberline, numbers on left side is than numbers on
right side.

(3) is a bigger number, than any negative integers and smaller

number than any positive integers.
(4) On a numberline integers are shown on left side of zero.

2. Place appropriate sign < or > in the blank :

(1) 2 -1 2 49—
@) -12)—(9) 4 (3) (-6)
G 5S— (3) 6) (-6) -1)
7 0 (-5) @ 0 7
©® 55— (5) (10) (-8) ——0

DN SEN @ W
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3. Fill in the blanks by placing appropriate number :

1) 5H<— 2 — <1
3) > 4 <

4. With the help of numberline, write integers lying between the given integers :
(1) (-7) and (—4) (2) 4 and 8 (3) (—2) and 2

(4) (5)and (1)  (5) (~1) and 1

5. Arrange the following integers in an ascending order with the help of
numberline :

(1) (_1)1 0: 6: 4 (2) (_5)’ 4: (_1)1 12

6. Arrange the following integers in descending order with the help of
numberline :

(1) 6,0, (-1), 15 (2) (-18),(-3), (-2), =7)
(3) (_3)3 7: 9, (_8)
® Addition of two integers with the help of numberline :

«—® + & & - &

DEH 5 ) 3 2 (—'1)

Here, cartoon is at 0 on a numberline :

e If cartoon moves one unit right side from 0 on a numberline, then it will

reach to ........ 0O+1= )
If it moves two units from 1 on right side, it will reach to ...... (1+2= )
It it moves two units from 3 on right side, it will reach to ...... B3+2= )
As we know that, 0+ 1 =1

1+2=3

3+2=35

Thus, you can see that, to add positive integer one can move on right side on
a numberline.
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e Now, we try to understand the addition 3 + 2 = 5 through numberline.

)

L
:_l
L
L ]

L ]
L 4

o d ¢ ® S 8

<) 0 1 2 3 4 5 6 7T 8

Thus, we get 5 on moving two units from 3 to the right side.

e As we have to move right side to add positive integer on a numberline,

similarly to add negative integer move on opposite side i.e. left side.

e Now, find 3 + (—5) with the help of numberline.

€ @ & & <& l & & @ & I L

HEEEHEGSEE) 01 2

L
v

Here, we want to add (— 5) (negative integer) into 3. So, we have to move 5 units

distance on left side from 3. Thus, as we move 5 units left side we reach to (—2).
3+(=5)=(2)
Hlustration 7 : Find (—3) + 4 with the help of numberline.

Solution : Here, we have to add positive integer, so we have to move right side.

So as we move 4 units right side from (—3), we reach to 1.

4

, N /e SR

5)(4) 3) () ) 0 1 2 3 4 5

v

-3)+4=1

P RN O W
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Illustration 8 : Find 2 + (—7) with the help of numberline.
Solution : Here, to add negative integer, we have to move on left side. So,

as we move 7 units on left side from 2 we reach to (—5).

7

z=

L‘ \
€ & @ 4 : @ e % s & ca

)5 D ) 2) D 0o 1 2z 3 4 5

v

2+ =05
Mustration 9 : Find (—3) + (—2) with the help of numberline.
Solution : On moving two units left side from (—3), it comes to (—5).

(DO D)) ) 0 1 2 3 4

]
v

B+ ) =5

{ N

e To add integers with the help of numberline...
(1) To add positive integers move on right side equal to that integer's unit

distance.

(2) To add negative integers move on left side equal to that integer's unit
distance.

N v,

&)

= Practice 3

1. Do following addition with the help of numberline :
(1) 2+4 2 2)+9 3) 2+ (-5 4 0+5
G) 0+(4H © 8+(6) (D) (H+9 @ D+

® 4+ (-10) (10) (4)+5 (1) (-5+ -7 (12) 5 + (-8)
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e Subtraction of integers with the help of numberline :
Mlustration 10 : Find 3 — 8 with the help of numberline.

Soluation :

8

ra

=
% & & @ l + # @ . .

-

BEDEE G HGSEED) 0]

&

2

v

3 4

Here, we have to subtract 8 (positive integer) from 3. So, move 8 units left side

from 3. Thus, on moving 8 units left side it comes to {—5).
3 —8=(=5)
IMustration 11 : Find (—2) — 4 with the help of numberline.

Solution :

) 4
DO S o0 1 2 3 4
On moving 4 units left side from (—2), it comes (—6).
(D) - 4=
Mustration 12 : Find 3 — (—4) with the help of numberline.
Solution :
4 L
@ en o0 1 2 3 4 5 6 7 8 9 10

0O

 Std. 6
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Here, to subtract (—4) (negative integer) from 3, we have to move 4 units right

side from 3. Thus, on moving 4 units it comes 7.

3—(—4)=7

Mustration 13 : Find (—5) — (—9) with the help of numberline.

; I o & o o+ » & + & o o

= E3)EE)E) 0 1 2 3 4 5 6

v

Here, on moving 9 units from (—5) right side, it comes 4.

5 - (9=4

e To substract integers with the help of numberline...

(1) To subtract positive integers, move left side equal to that integer's unit
distance.

(2) To subtract negative integers, move right side equal to that integer's unit

distance.
N v,

& Practice 4

1. Subtract the following with the help of numberline :

(1) 4-1 2) (-3)—6 3) 0—4

@) 3-(96) G) 3H-C2 ©) 2—(5)
7 0-(-6) @ 1-(5) @ -7
(10) 5)—- 4 (1) (3)—-4 (12)5-9

TEDNE SN @) W D
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e Integers includes positive integers, zero and negative integers.

e 0 is neither positive integer nor negative integer.

® Integers are infinite.

e Any positive integer is bigger than negative integers.

e Zero is bigger integer than negative integer and smaller integer than positive
integer.

e

S

1. Write integers lying between of the following integers with the help of

numberline :
(1) (=2) and 7 (2) (—10) and (—6) (3) 4 and (-1)

2. Arrange the following integers into ascending order with the help of
numberline :

(1) (-5),8,(-13),0 (2) (-9), (-1), (-6), (-4)
(3) 3, (-2), (-6), (-3) 4) 1,(-5), 2 (-9)

3. Arrange the following integers in descending order with the help of
numberline :

4. Do the following addition with the help of numberline :
(1) (2)+5) 2 7+(-10)
@ N+4a @ (-5)+10
G (3)+8 © 0+ (=7)
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5. Do the following subtraction with the help of numberline :

(1) (=3)-(-9) (2) 8—(4)
(3) 5—10 (4) (-5)—4
(5) (3)-7 (6) 2 —8

6. With the help of your teacher, form a group of two-two students. Now, in
each group, one student speaks positive integer and the other student speaks

negative integer. Now, add both integers. Similarly subtract those integers.

Instruction : You have to speak the integers lying between (—20) and 20.

4 h
¢ Draw a numberline on the ground as per the adjoing

figure.
e Make a die such that on its three faces, positive

numbers 1, 2, 3 are written and on remaining three

faces negative numbers (—1), (—2), (—3) are written.

e Keep two coins for both the friends at zero.

e Now, throw die and move the coin as per die.

e Play this game turn by turn by throwing die 5 times.

® At last see the position of each coin and decide the

winner according to the coin on bigger number than
other.

&=~ Answers gy

Practice 1

1. (1) left (2) right (3) zero (4) negative
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Practice 2
1. (1) 0 (2)small (3) zero (4) negative
2. < @> O< W> B> O< M> G< O> )<
4. (1) (-6), (-=5) (2) 5,6, 7 (3) (-1), 0, 1
(4) (-4), (-3), (-2) (5) 0
5. (1) (-1),0,4,6 (2) (-5), (-1), 4, 12
(3) (-14), (-11), (-1),7
6. (1) 15,6,0, (-1)(2) (-2), (=3), (<7), (—18)
(3) 9,7 (=3),(-8)
Practice 3
1. (16 (2)7 33 @Ws (5= (6)2
(7) 5 (8)(-9) (9) (-6) (10) 1 (m)(-12) (12) (-3)
Practice 4
. 1)3 @9 @) (@) (s)-1) (6)3
(7) 6 (8)6 (99 (10)(-1) ()1 (12) (—4)

Exercise
1. (1) (1,0, 1,2,3,4,5,6(2) (-9),(-8),-7 (3) 0,1,2,3
2. (1) (-13), (=5), 0,8 (2) (-9), (=6), (=4), (-1)
(3) (-6),(-3),(=2),3 (4) (-9),(=5), 1,2
3. (1) 10,0, (-1), (-6) (2) 7, 4, (-1), (-5)
(3) 13, 4, (-2), (-3) (4) 0, (=2), (-4), (-7)
4. (1) =7 (2) (3) (3) (3) (4) 5
(5) 5 (6) 7)
5. (1) 6 (2) 12 (3) -5 (4) (-9)
(5) (=10) (6) (-6)
2
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Types of Pair of Angles

< Let us remember :
Activity 1 : Measure the angle formed by two hands of a clock given in the following
different pictures and write the measurement and type in the given [ |:

Measure : | Type:

Measure : | Type :

Figure 2.1

Activity 2 : Classify the following angles into given table :

[ L\ @\ @/ [\

1) 2 3 4 ® ®)

Acute Angle Right Angle Obtuse Angle
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® Let us learn new :
e Types of pair of angles : Here, we try to understand different types of pair
of angles with the help of relation between the measures of two angles.
e Complementary Angles :

Activity 3 : Measure the following angles. Write their measurement and addition of
measure in the table :

Figure Measure of angles | Addition of measures of angles
(2) A
mZABC = ... ° mZABC + mZDEF
B o = e © F e °
D T rveverens °
mZDEF = ........ °
E o>
F
|
m _
P} m/ZPQS = ... mZPQS + m/ZRQS
= e R PR °
S
Q ]i_; mARQS = ieisesans
Figure 2.2

Give answers from above figures :

(1) What is the measure of ZABC 7 ...,

(2) What is the measure of ZDEF ? ......coonuee...

(3) What is the sum of measures of both angles in fig. 2.2(a) ? .....ccecoernne..
(

4) What is the sum of measures of both angles in fig. 2.2(b) ? ......eeceereene

W\-@\«
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e If sum of the measure of two angles is 90° them both the angles are called
complementary angles to each other.
If fig. 2.2(a) complementary angles of ZABC is ZDEF and viceversa. Similarly in
figure 2.2(b) £PQS and Z RQS are complementary angles to each other.
Here, mZABC + m/ZDEF = 90°
mZPQS + m/ZRQS = 90°
In short, sum of the measure of complementary angles is 90°.

(Complementary angle of given angle = 90° — measure of given angle.]

Note : We can write measure ZABC as mZABC.
IMustration 1 : Find complementary angle of 25°.
Solution : Here, we know that sum of the measure of both complementary angle
is 90°.
Measure of complementary angle of 25° = 90° — 25° = 65°
Complementary angle of 25° = 65°
Miustration 2 : Find complementary angle of 45°.
Solution : Sum of the measure of the pair of complementary angles is 90°.
Complementary angle of 45° = 90° — 45° = 45°
Complementary angle of 45° = 45°

o]

i

& Practice 1

1. Write correct alternative in the given [ | :
[1] What is the measure of complementary angle of 20° ?
(1) 60° (2) 70° (3) 80°
[2] What is the measure of complementary angle of 55° ?
(1) 25° (2) 15° (3) 35°
[3] What is the measure of complementary angle of 83° ?
(1) 7° (2) 17° (3) 27°

Inminnl
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Fill up the table on finding complementary angle of given angle :

Angle-1 | Angle-2 Angle-1 |  Angle-2
O I — @ 56° | e
v) | — 63° )| — 12°

©) | L — ©) 67 |

Find complementary angle of 23°.

Find complementary angle of 36°.

Which pair of given angle is complementary and which are not ?

[1] 15°, 75° [2] 76°, 47° [3] 64°, 26°

[4] 50°, 40° [5] 33°, 66° [6] 20°, 70°

Write measures of any three acute angles. Also write their complementary angles.

Supplementary Angles :

Activity 4 : Measure the following angle and write the sum of their measure in the table.

Figure Measures of angle Sum of measure of angle
a
@ m/ZHI] = ... ° mZHI] + mZKILM
H
/ = eiisssseas R °
s :
“‘\
s L
M m/ZKIM = .......... ° = reerenens °
(b) W
mLWYZ = .......... © mLWYZ + mZLWYX
= reverreens R SOPPRN °
X Yz MLWYX = ... o | = . o
Figure 2.3 R
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Answer the following questions on the basis of fig. 2.3.

(1) What is the measure of ZKILM ?

(2) What is the sum of mZKLM and mZHIJ ?

(3) What is the sum of mZWYZ and mZWYX ?

e If sum of the measure of two angles is 180° then both the angles are

called supplementary angles to each other.

In fig. 2.3(a), supplementary angle of ZHIJ is ZKIL.M and supplementary angle of
ZKIM is ZHI). It means ZHIJ and ZKILM are supplementary angles to each other.
Similarly in fig. 2.3(b), ZWYZ and /WYX are also supplementary angles to each other.

In pair of supplementary angles sum of the measures of both the angle is 180°.

Measure of supplementary angle of given angle
= 180° — measure of given angle.

Note : Complementary angles and supplementary angles are two angles formed

from one origin or formed from two different origin.

IMustration 3 : Find the measure of supplementary angle of 135°.
Solution : Sum of the measure of supplementary angle is 180°.
Supplementary angle of 135° = 180° — 135° = 45°

Measure of supplementary angle of 135° = 45°,

Activity § :

From the following angles make a pair of complementary angles and supplementary

angles, also write it in the table :

45°, 65°, 120°, 55°, 23°, 75°, 25°, 81°, 105°, 145°, 60°, 67°, 35°, 99°

P BN ) N
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No. Pair of complementary angles Pair of supplementary angles
(1) 35°, 55° 110°, 70°

@

@)

@)

G)

(6)

D

Practice 2

(1) 47 (2) 75° (3) 112° (4) 90° (5) 109°
(6) 100° (7) 81° (8) 60° (9) 145° (10) 132°

2. Two angles are supplementary angles. If measure of one angle is 66°, then find
the measure of another angle.

3. Two angles are supplementary angles. If measure of both angles are equal, then
find their measures.

® Angles of Linear Pair :

Activity 6 : Fill up the table according to the given diagram :

Figure Common arm Jppos.le ra, Lum o. measure 0. ang.gs
@® .
BC m/ABD + m/ZABC
ﬁ and = rvverene R RN °
s > —_ — ©
2 D B C = BD = seasaranan
Figure 2.4

W\,@\ <D
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Figure Common arm | Opposite ray| Sum of measure of angles
® Q | ] e m/SPQ + m/RPQ
and = e °+ ... °
€ § P i >
Figure 25 | e e e ©

® Two angles having one arm common and other two arms forming
opposite rays to each other are called linear pairs. The sum of the

measure of angles of linear pair is 180°.
In fig. 2.4, ZABD and ZABC are angles of linear pair. Similarly in fig. 2.5, ZSPQ
and ZRPQ are angles of linear pair.

Note : Angles of linear pair is supplementary angles, but each pair of supplementary
angle does not form angles of linear pair.

P ZABC | Supplementary angles.
and
70° 110° ZPQR | Not the angles of
B C'; Q 1={ >

linear pair.

Figure 2.6

In fig. 2.6, mZABC + m/ZPQR = 70° + 110° = 180°

ZABC and ZPQR are supplementary to each other. ZABC and ZPQR have

no common arm, therefore they are not angles of linear pair.

W-@\
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Hlustration 4 : Measure of one angle of a linear pair is 75°, then find measure of

another angle.

Solution : As we know that sum of the measure of angles of linear pair is 180°.
Measure of another angle of linear pair = 180° — 75° = 105°.
Measure of another angle of linear pair is 105°.

Mustration 5 : Measure of an angle forming a linear pair is 67°, then find the measure
of the other angle.

Solution : Sum of the measure of angle of linear pair = 180°.
Measure of another angle of linear pair = 180° — 67° = 113°,

Measure of another angle of linear pair is 113°.

& Practice 3

1. Measure of one angle of linear pair is given. Find the measure of another

angle :

(1) 20° (2) 130° (3) 111° (4) 50° (5) 85° (6) 107° (7) 155°
2. Measure of one angle of linear pair is 82°, find the measure of another angle.
3. One angle of linear pair is a right angle, then find the measure of another angle.

4. Measure of one angle of linear pair is 108°, then find the measure of another
angle.

5. Make a pair of angles forming linear pair from the following angles :

27°, 90°, 130°, 80°, 35°, 50°, 145°, 100°, 90°, 153°
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<  Vertically Opposite Angles :
& > . .
In fig. 2.7 GJ and HP both intersect each other at point B.

&> >
Four angles are formed by the intersection of GJ and HP at point B.

Z1 means ZGBP
/2 means ZGBH
£3 means ZJBH
Z4 means ZJBP

Figure 2.7

Here, Z1 and /3, also /2 and Z4 are opposite angles to each other, so they
are called vertically opposite angles.

® Out of four angles formed by two intersecting lines, a pair of opposite
angles is called vertically opposite angles.

In figure, ZGBP and ZJBH are one pair of vertically opposite angles. Also
ZGBH and ZJBP are another pair of vertically opposite angles.
Z1 and Z2 are angle of linear pair.
mZl + mZ2 = 180°
Also, £2 and £3 are angles of linear pair.
mZ2 + mZ3 = 180°
Thus, mzZ1 + mZ2 = m/Z2 + m/Z3
mLl = m/3
Similarly, mZ2 = m/Z4

Thus, measures of opposite angles are equal.

| N
® Two pairs of vertically opposite angles are formed by the intersection

of two lines.

® Measure of vertically opposite angles are equal.
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Ilustration 6 : AB and CD intersects each other at point E. If measure of ZAED
is 70°, then find the measure of remaining three angles.

Solution : ZAED and ZCEB are vertically opposite angles.
mZAED = mZCEB, but mZAED = 70°.
m/ZCEB = 70°
ZAED and ZAEC are angles of linear pair.

mZAED + mZAEC = 180°
mZAEC = 180° — 70°

mZAEC = 110° Figure 2.8
mZDEB = 110° ("' vertically opposite angle of ZAEC)
Thus, mZAEC = 110°, m£ZCEB = 70° and mZDEB = 110°
¢ Think :

e Pair of two angles, other than vertically opposite angles, are called which
type of angle ?

e If two line segments or rays intersect each other, then also vertically opposite
angles are formed ?

S Practice 4

1. Fill in the blanks to make each statement correct from adjoining figure :

(1) Vertically opposite angle of ZXVZ is .....ccoeunn. .

X Z
(2) Vertically opposite angle of ZXVW is .......cu..... .
(3) mZXVW = 120° then,
A"
0 mLWVY=......... and
W, Y
@) MLXVZ= . .

N4 2
2. AB and CD intersect each other at point O. Measure of one angle is 56°, then

find measure of other three angles.
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3. From the given figure write two pairs of supplementary angles :

A
Es
H

@&

1. From the figure given below, write types of pair of angles and also write

possible pairs against each type of angle :

- : s
B Q

2. From the following pair of angles, which pair is of complementary angle
and which pair is of supplementary angle ?

(1) 27°, 63° (2) 110°, 70° (3) 7°, 83°

(4) 135°,45° (5) 58°, 32° (6) 52°, 128°
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3. Find the measure of complementary and supplementary angles and fill the table :

Measur Measure of its easure of it Measure Measure of its Measure of its
of an complementary supplementary ofan complementary supplementary
angle angle angle angle angle angle

1 7 6) 25°
(2) 50° () 48
3) 80° 8 67°
4) 87° (9 34°
() 36° 10 71°

4. YB and (% intersect each other at point E. m/BED = 145°, then find the

measure of remaining angles.
D

145°

A
W

oy ]
(es)
e

C

S. Answer the following questions from the adjoining figure :
(1) How many pairs of vertically opposite angles Ix
are formed ?
(2) Write all pairs of vertically opposite angles.
(3) How many pairs are formed of angles of linear
pair ?

M

a-1

v

fol

(4) Write all pairs of angles of linear pair.
(5) If msXMQ = 90°, then find the measure of 1Y
remaining three angles.

W@\ <D
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Now say :

Where do you find angles ?

Like,

e Between the edge of table and its feet.
e Between the wall and ceiling of house.

o
® Where do you find triangle ?
Like,
¢ Radium triangle behind the bus.

®

¢ Do you know ? Mason uses the set-square to construct home. Note down
the use of set-square while constructing house. You may visit of some
houses nearby you.

L 2

%~ Answers ¥
Practice 1
1. (1) 70° (2)35° (3) 7°
2. (1) 40° (2) 27° (3)43° (4)34° (5)78° (6)23° 3.67° 4.54°
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Practice 2
(1) 133°(2) 105° (3) 68° (4) 90° (5) 71° (6) 80° (7) 99° (8) 120°
(9) 35° (10) 48° 2. 114° 3. 90°
Practice 3
(1) 160°(2) 50° (3) 69° (4) 130° (5) 95° (6) 73° (7) 25°
08° 3. 90° 4. 72° 5, 27° and 153°, 90° and 90°, 130° and 50°,
80° and 100°, 35° and 145°
Practice 4
(1) ZWVY () £YVZ (3) (i) 60° (ii) 60°
56°, 124°, 124°, 3. ZEFI and ZGFl, ZEFH and ZGFH
Exercise
Pair of angles of linear pair : (2) 110°, 70° (4) 135°, 45° (6) 52°, 128°
Pair of complementary angles : (1) 27°, 63°  (3) 7°, 83° (5) 58°, 32°

Measur Measure of its Veasure of it: Measure Measure of its Measure of its
of an complementary upplementary of an complementary supplementary
50° 40° 130° (7 48° 42° 132°
80° 10° 100° o 67° 23° 113°
- - - s e .- 1..
36° 54° 144° meT1° 19° 109°

mZAED = 35°, mZAEC = 145°, m/BEC = 35°
(1) Two (2) LXMQ and /PMY, ZXMP and £YMQ (3) Four (4) ZXMQ and
ZQMY, ZQMY and ZYMP, ZYMP and Z/PMX, ZPMX and ZXMQ
(5) mLXMP = 90°, m/PMY = 90°, m£YMQ = 90°

&
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LCM and HCF

Dear friends !! Let us play a game. Name of the game is "Khichadi-Kadhi".
(Hotch-Potch-Curry)
First of all sit on the ground and form a circle. First student says 1, second says

2, third says 3, in this manner say up to 100. The student who says multiple of 5, he
has to say 'Khichadi' ! Similarly instead of multiple of 6, one has to say 'Kadhi' ! The

digit, which is multiple of 5 and 6 one has to say Khichadi-Kadhi' !
¢ Think :

e For which number one said 'Khichadi' ?

e For which number one said Kadhi' ?

e For which number one said 'Khichadi-Kadhi' ?

® Which number come first, for that one said 'Khichadi-Kadhi' ?
e Let us remember :

Complete the table by writing successive multiple of given digits :

112|134 |5 |6 718 |9 (10|11 12| 13|14 |15
2 | 4
3|6
4 | 8
5 |10
6 |12
7 | 14
8

9
10
11
12
13
14
15
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Let us learn new :

Think and then say according to above table :

®  Which are the multiple of 2 ?

e Which are the multiple of 3 ?

e Which are the similar multiple of 2 and 3 ?

Similar multiples of given numbers are called common multiple of given

numbers.

|

Note : There are infinite multiples for any numbers. Thus, there are ]

infinite common milt*sles for these numbers.

So, now find common multiples of 4 and 6.

Multiplesof 4 : | | | | [ | [ | [ | | [ | L[|

Multiplesof 6 : | | | | [ | [ | [ | L | [ L | L

Common multiples of 4 and 6

Which is the smallest common multiple of 4 and 6 ? [ ]

Smallest number means least number. J

The smallest common multiple means least common multiple. In short, least

common multiple is called LCM. It means LCM of 4 and 6 is [ |.

Mustration 1 : Find LCM of 15 and 25 :

Multiple of 15 : 15, 30, 45, 60,(75), 90, 105, 120, 135, @50), ...........

Multiple of 25 : 25, 50,(73), 100, 125,50, 175, 200, ..........

P OV O) W
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Common multiples of 15 and 25 : 75, 100, ...........

The least common multiples of 15 and 25 is 75.
Thus, LCM of 15 and 25 is 75.

Mustration 2 : Find LCM of 6, 10 and 15.
Multiples of 6 : 6, 12, 18, 24,(30), 42, 48, 54,(60), ..
Multiples of 10 : 10, 20,@, 40, 50, , 70, ...
Multiples of 15 : 15,(30), 45,(60), 75, 90, ...
Common multiples of 6, 10 and 15 are 30, 60,...

Thus, LCM of 6, 10 and 15 is 30.
Dlustration 3 : Find the LCM of 5 and 7.
Multiples of 5 : 5, 10, 15, 20, 25, 30,@, 40, 45, 50, 55, 60, 65,,...
Multiples of 7 : 7, 14, 21, 28,(33), 42, 49, 56, 63,(70), 77, ...
Common multiples of 5 and 7 are 35, 70, ...

Thus, LCM of 5 and 7 is 35.

Now, find LCM by taking any two or three prime numbers.

e LCM is exactly divisible by all given numbers. Thus, LCM
is the biggest number of all given numbers or bigger than those

numbers.

e LCM of two or more prime numbers is the product of those numbers.

_Std. 6 _
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e Second method to find LCM (Division method)
Mlustration 4 : Find LCM of 12 and 16.

Explaination : Divide 12 and 16 by prime division method.

) 12 16 ¢ 12 and 16 divides by 2 gives 6 and 8
ively.
5 6 2 respectively.
e 6 and 8 divides by 2 gives 3 and 4
2 3 4 .
respectively.
2 3 2 e 3 is not exactly divisible, but 4 divides by 2
3 3 1 gives 2. So, below 3, write 3 and below 4
1 1 write 2.
¢ Again 2 divides by 2 gives 1 and 3 is written
Thus, LCM of 12 and 16 is below 3.

=2x%x2x2x2x3 ¢ Now, 3 divides by 3 gives 1.

= 48 ® Thus, divides each numbers by prime

LCM of 12 and 16 is 48. numbers 2, 3, 5, 7,... untill the result
(quotient) is 1.

e Thus, at the end of the division, multiplication

of all prime numbers found on left side is

the LCM of given numbers.
IMiustration S : Find LCM of 10, 20 and 25.

2 10 20 25
Thus, LCM of 10, 20 and 25 is
2 5 10 25
=2X2X5X%X5
5 5 5 25 — 100
5 1 1 5 .
Thus, LCM of 10, 20 and 25 is 100.
1 1 1
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Practice 1

Find LCM by giving multiples :

(1) 6 and 10 (2) 9 and 18

(3) 12, 18 and 24 (4) 5,10 and 15

Find LCM by division method :
(2) 24 and 30
(4) 11, 22 and 33

(1) 10 and 12
(3) 3,9 and 15

In a series, red light blinks after every 2 seconds,

green light blinks after every 6 seconds and yellow
light blinks after every 10 seconds. If all three lights
starts simultaneously, then after how many seconds

they blink together ?

Find the factors of 20 :

P T el A A
:1 X 20:=2o
:2 x 10:=20
| |
|4 X 5 |=20
Bt i =

Factors of 20 : 1, 2, 4, 5, 10, 20
Similarly find factors of given numbers :

(1) 25 (2)s56 (3) 16 (4) 36 (5) 70 (6) 72

Q0@

 Std. 6
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® Let us learn new :
From the earlier prepared table (on page 30), find out 8 and 12 lies in table of

which number and make a pair :

The given numbers lies in the table of which numbers, then those numbers are

called factors of given number.
Think and say :

® What are the factors of 8 ?

e What are the factors of 12 ?

® What are the same factors of 8 and 12 ?

Same factors of the given numbers are called common factors of all the given

numbers.

So, now find factors of 10 and 15 :

Factors of 10 :

Factors of 15 :

Common factors of 10 and 15 :
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® Which is the smallest common factor of 10 and 15 ?

® Which is the biggest common factor of 10 and 15 ?

The biggest means the most or greatest or highest.

The biggest common factor means Highest Common Factor. In short it is called

HCF Therefore, HCF of 10 and 15 is

Mustration 6 : Find HCF of 32 and 48.

[ — pp— p— ] T ——T—
I1x32I=32 IIX48I=48
I2x16l=32 I2x24l=4s
| | | |
| 4x8 | =32 | 3 x 16 | = 48
et | |

| 4x12 =48

| |

|

6 x8 |=48

L A |

Factors of 32 :@, @, @, , , 32
Factors of 48 : (1) (2), 3, (@), 6, (8) 12, (6), 24, 48

Common factors of 32 and 48 : 1, 2, 4, 8, 16
Highest Common Factor of 32 and 48 is 16.

Therefore, HCF of 32 and 48 is 16.
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Hlustration 7 ¢ Find HCF of 12, 24 and 42.

Factors of 12 : @, @, @, 4, ., 12

r—====-""

(o] — |
X X |
> 8

| W
| X
I e

e e IS |

-

-y
[\

[a—
[\ ]

[a—y
Mo

3 : LCM and HCF

r.-

—

e e o S e |

[ r—~|
X X|

W
X

| i
| X
I [«

[a—y
[\

[ )

N
= |

b= o
o

N

)
i

[ o]
i

b
I

Factors of 24 : (1), (2), (3), 4, (6), 8, 12, 24

Factors of 42 : (1), (2), (3), (6), 7, 14, 21, 42

Common factors of 12, 24 and 42 are :

factor is 6.

Mlustration 8 : Find HCF of 7 and 11.

Thus, HCF of 12, 24 and 42 is 6.

Factors of 7 : @ 7

Factors of 11 : @ 11

HCF of 7 and 11 is 1.

1 x42| =42

F———n

|
2><21I=42
3x14:=42
6 x7 |

| =4
A

1, 2, 3, 6. Out of these the highest

numbers, the least common factor is 1.

® Now, find HCF for any two or three prime numbers.
i G
e All the given numbers are exactly divisible by their HCF. Thus, HCF is the
smallest number of given numbers or even smaller than those numbers.
e HCF of two or more than two prime numbers is 1.
e 1 is the least factor of any numbers. So, for two or more than two

- Std. 6
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e Second method to find HCF (Method of prime factor)

Mustration 9 : Find HCF of 28 and 42.
There are two methods for prime factorization of 28 and 42.

Method 1 : Method 2 :

28 42 2 |28 2 |42

2 |14 3 |21
4 x|7 6 x|7 7 |7 7 |7

/\ /\ 1 1

2|x|2 2|x|3

Thus, 28=@x2x®
42 =2)x 3 x(7

Product of common prime factors of 28 and 42 means HCF of 28 and 42.
Thus, HCF of 28 and 42 is =2 x 7 = 14
Thus, HCF of 28 and 42 is 14.

Mlustration 10 : Find HCF of 40, 60 and 80.

2le 2]|e 2 |
2 | 2 2 | 30 2 |40
2010 3]s 2 20
5|5 5|5 2|10
i v

i

Thus, 40 =(2) x 2) x 2 x (5)
60=@x®x3x@
80=@x@x2x2x@

Thus, HCF of 40, 60 and 80 = 2 X 2 X 5 = 20
Thus, HCF of 40, 60 and 80 is 20.
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Exercise _
A }"II\

Fill in the blanks to make the statement correct :

(1) The greatest common factor of given numbers is called
(2) The smallest common multiple of given numbers is called
(3) LCM of two or more prime numbers is equals to its
{(4) HCF of two or more prime numbers is equals to its
(5) For any numbers the smallest common factor is
Find LCM :

(1) 18and 27 (2) 30and 45 (3) 13,26 and 39  (4) 20, 40 and 50
Find HCF :

(1) 5 13 (2) 15,24 (3) 15, 25 and 35 (4) 12, 18 and 24
Think :

e What is the HCF of two consecutive numbers ?

What is the LCM of two consecutive numbers ?

What is the HCF of two odd consecutive numbers ?

What is the LCM of two odd consecutive numbers ?

Take a book from your school library showing the different methods and uses
of LCM and HCEF, also collect the information to find HCF by division method.
Also calculate some problem sums about LCM and HCF

In the following square, fill up the yellow colour in the box which shows the
number of multiple of 3 and see, which shape is formed ? Also, fill up the red
colour in the box of multiple of 7 and see, which shape is formed ?

® & & o

37 16 38 3 17 55 41
4 2 9 13 15 29 5
52 27 1 5 4 33 32
39 21 63 | 105 | &4 42 45
8
44

59 56 10 13 14 26
31 70 11 22 28 34
43 35 91 7 77 49 23

® Note down the numbers which are multiple of both 3 and 7.
&
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¥~ Answers &
Practice 1
(1) 30 (2) 18 (3) 72 (4) 30 2. (1) 60 (2) 120 (3) 45 (4) 66 3. 30

Practice 2

(1) 2 2)8 3)12 (41 2.(1)5 (2022 (3)9 (4) 5 3. 24

Exercise
(1) HCF(2) LCM (3) Multiplication (4) 1  (5) 1
(1) 54 (2) 90 (3)78 (4) 200 3.(0)1 23 (3)5 (4) 6
L2

' Fun with Maths

Method to find HCF and LCM together :
Let us find HCF and LCM of 16 and 24 :

e HCF - Highest Common Factor : @ 16 | 24
Draw the circle on the number which divides the @ 2 |12
given numbers and left no remainder. @ 4|6
Product of those numbers, ; %
e.g. 2 X 2 X 2 = 8 shows HCF

e LCM - Lowest Common Multiple : & 1 ?

Product of each prime numbers shown on left side
shows LCM
eg 2X2X2X2X3=48is LCM
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Fraction

e Let us remember :
Activity 1 : Take a separate sheet of paper and prepare boxes by using the mix
integer given below. Also fill up with colours :

1142
3

4 3
» g zg: Zg

I
I
I
I
I
I
I
v |

Activity 2 : According to the given sample (1), new fraction is formed by
addition-substraction of given fractions. Fill up the colours in boxes of new correct

fraction and also write the correct fraction.
o VW + W W

(% %) (4

@ TR + VI
3 3 -

)
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Let's learn new :

e Addition of unlike fractions :

| w

oo | L

Try to understand the addition of unlike fractions with an example.

Hlustration 1 : %

Solution :

1_
+3

hJun

Understand the addition of % and % through figure.

N

S

(

-]

)

In fig. (a) pink lines part shows 1

In fig. (b) blue lines part shows =.

athematics

-------
DN NN

b) ©

2

1
3

(d)

Std. 6
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By adding fig. (a) and (b), fig. (¢) is formed. Out of total six parts of figure, in
one part pink and blue lines meet with each other.
If we place the blue lines part into a blank part then fig. (d) is obtained. It shows

the addition of 7 and 3, which is equal to 2.

Thus, % + % = % (Here, denominator of % i.e. 6 is the LCM of denominator

of % and denominator of %)

Here, addition is also possible by making the denominator 6 of % and %

1l _ -3
2 2x3 6
1_1)(2_2
3 3x2 6
3 ,.2_3:2_35
s 766 6

It is little difficult and tidious to make addition of unlike fractions through figures.
But by finding LCM of denominator and converting it into like fraction, it will be

easy !!
Let us understand by the illustration :

1

. g 1
R et
Nlustration 2 st 7

Solution : Here, denominator of both the fractions are different. So, add them by
converting into like fraction.

For this, find LCM of 6 and 4. 216 | 4
LCM of 6 and 4 is 12.
of 6 and 4 is 5132
So, make the denominator of
31311

1 1 .
3 dzlSlZ.

111 LCM=2x%x2x3=12

PO BN O) N
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1 _1x2

2
6 6x2 12 (Multiplying numerator and denominator by 2, to make the

denominator 12.)

1 1x3 3
1 ax3 12 (Multiplying numerator and denominator by 3, to make the

denominator 12.)

Now, 2 and 3 are like fractions.

7 12 12
2
—_— —
12 12
_2+3
_3
12
. 1,1_5
[" 3+Z‘u]
Mustration 3 : 3 + 2+ 1
5 4
Solut‘mu.5+2+4 st1 73
2 |15|(1]2
LCM of 5, 1 and 4 is 20.
S151|11]1
So, make the denominator of each fraction 20.
1 (11

3x4+2x20 N 1x5
5x4 1x20 4x5

ICM=2%x2x5=20
12 40 5
20 20 20

12+40+5
20



3 1 17
oo +2+—=2—
[ 3rrvieon ]

® When there is an integer in the addition of fractions it means denominator is 1.
¢ In the calculation of addition of unlike fractions, it is not necessary to show the
calculation of LCM.

Practice 1
Do addition :

3 5 2 3 3 2

4+ = 4+ = 2~ + 12
(1) 4 8 @ 5 7 3) 4 3

2 7 5 7 3 1 5

4~ +-+4 2= + — 2+ -+ =
@ 3 6 ) 8 16 (6)4 6 12

Take two numbers from mix fractions box and add it. Find the result on the
game--board and make ‘X’ sign on it :

Mix Fractions Game-Board
5 [ ol 1] s |6 |42 ] 48
8 4 2 4 8 8
13 21 23 | 33| 62 | 6l 7
8 8 8 8
7
1% 4% 6 4% %/ 2% 2%
%
2E 1l 3E 4E 5E 4 6—
4 4 8 8 4
57 71 g3 51 41
8 2 8 8 8
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e Subtraction of unike fractions :

2

3
Mlustration 4 : Subtract : " - 5

Solution : Here, denominator of both fractions are different, so convert them into
like fractions and then subtract. To convert them into like fractions, find the LCM of

denominators 4 and 3.

3
4

3x3 2x4 ) 4
2 2
- 2 _°8 3 1

1 1
= ICM=2x2x3=12

_2 _
3

W | W W

Bl w
|
WM
Il

S
o|-
N —

[ |

IMustration 5 : Subtract : 6 — 23

3 13
Solution : 6 — 25

5
5

6
1
6 13

X
1x5 5 (LCM of 1 and 5 is 5.)
30 13

5 5




Do subtraction :
1 3 4 7 6
3— - 2— 5 - — — - —
(1) 5 10 ) 11 (3) 2 13
13 3 5 1 3
5— - 4— 7 - 3= 7T— = 2=
(4) 20 10 (5) 9 (6) 2 4

Fill in the blank, with appropriate answer by doing addition and
subtraction :

@ > @ >
2 | 4 1|1
8 8 - 2 3 -
Q| 1| 2 O 1| 1
8 8 - 3 4 -
4 N

Product of fraction with integer :

Let us understand the product of fraction with integer by following figures :

DB - €

+

4 4

=
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1
Here, 1 is shown two times through figure.

1+1_2, btained
1 g s© ed.

1 1
By addition of them, 1 + 1 =

1 2 1
Thus, by taking 1 two times 1 is obtained, it means 1 is multiplied by 2.

1 1 2 2
—X2=—X—= = —
4 4 1 4

Sl Practice 3

See the following figures and fill in the blanks :

/e i)
W W

+ + =
1 1 3 3x1 3
1e4X3—4X1—4X1—4

2. \\\\\N N
T A N




2

IxX— =
3 5
3

4 X = =
4 7
5

IX— =
3 8

e Product of fraction with fraction :

/) I
/ }, Y,
/)
v

(@) (b)

(1) Coloured part of fig. (a) is

(2) Coloured part of fig. (b) is

/1]
7

747
Ty ¥
/)

(c)
part of whole figure.

part of whole figure.

Fig. (a) and (b) when coincide fig. (c) is formed.

(3) In fig. (c) parts are seen.
(4) Pink and blue coloured lining part is

part of fig. (c), which

2

1
shows the product of 3 and 1

This product is also written as under :

1 2
— X —
3 4

1

X
(S
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3
=10 (Reduced form)

1x4

2 6
4 5x4 20
4 4
7 3x7 21

. Product of numerators of fractions.
Product of fractions =

Product of denomenators of fractions.

Reciprocal of integer and fraction :

Do multiplication :

1 22 3
1 13 8
@) 5 - ) 8 13 -
1
3 7X 7 T— (6) Result of the product of above questions

1S

Thus, Tf the product of two numbers is 1, then those numbers are

called reciprocal to each other.”

1 1
® Reciprocal of 3 is 3 and reciprocal of 3 is 3.
L] L] 1 L] Ll
e Reciprocal of 7 is = and reciprocal of - s 7.
Reciprocal of — is — and reciprocal of — i 2
) eciprocal of 7 is - and reciprocal of - is 7.

Zero has no reciprocal. (Because product of zero with any number
is zero, not 1)
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e Division of fraction with natural number :

Cut )

, , from above.

Now, one by one arrange every shape on the above rectangle and check it how many
pieces are necessary to cover the rectangle ? Now, fill up the following table :

No. Division by natural number Multiplication by reciprocal of that number

1

) 12+2=__ 12x = =__
2
1

) 12+3=___ 2x3=—
1

(3) 12+4=______ 12X —=______
4
1

4 12+6=__ 12><8=_

Which result is obtained by doing both procedure 7

Therefore,

A number is divided by any number except zero means multiplication
of reciprocal of that number.

Similarly,
To divide given fraction with natural number, multiply the fraction with reciprocal of
that natural number.
Like,
1L, _1x1_1
* 572572 5x2 10

DN RN )
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W 3 T T X B -

®* 3§ 777 8% B -

e Division of fraction with fraction :

Activity :

e Take a paper and fold from middle. Now, again fold it. When you open the
paper then according to fig. (a), it is divided into four parts. Cut all these
four parts.

e Take another paper and fold from middle. Open the paper, then according
to fig. (b), it is dividied into two parts.

e Now, cover the parts of second paper with the four parts of first paper.

S 1
E 5 Now, how many pieces of — parts are
1:1°1'1 4
4:4:4:4 :
! used to cover the piece of o part ?
@ 11
Thus, - + —
27
1 4 L1 1 : : 1
= — X — (Divide = by — means, multiply by the reciprocal of —)
2 1 2 4 4
= 2
Mlustration 6 : LR
ustration 6 : 5 + 7
gl - L x 2
olution : = o X <
_3_,1 L 1,3_3_.11
T2 T2 T A B A P

- Std. 6
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Mlustrati 7-341Z
USrason -7' 3
Slt" .E.:.lz
0“]0“-7' 3

_3
7
- 35

Mustration 8 : 35 + 12
ustfrarion -7'7

4
Solution : 3; + 1=

W



1. Divide the following :

7 1
-+ - =+ 1—
(1) 18 ~ 6 (5) 3 4
6 1 22
— =+ 2— + —
@) - =3 ©) 25 + <
5 5 1 6
-+ — 3— + =
() 7 14 @) 5 8
3 2 1 5
— = — 2— + 3—
@) 5 +3 8) 2¢ =3
e Think
1
@ 1 part of a day means how many hours ?

2
® Aahna has 15 books. Out of these 3 parts of the books are of mathematical

problems. Then find the number of books of mathematical problems.

¢ Simplification of four operations in fraction :

We have learnt simplification of four operations for integers. In the same way, to
simplify four operations in fraction, first do division then multiplication and then do

addition and subtraction. Let us understand the simplification.

Mlustration 9 : = + = = 12 x >
ustiration -5 3 3X5
Soluti .i+2;12 E
0!]0!1&5 3 3X5

TEDNE SN ) W D



5 6
T3X3 (Converting mix fraction into fraction.)

+
wnN

+
—
W
w | Lh
e I

X

s
5

X < (Division means multiplication of reciprocal.)

6 .
X 3 (by multiplying)

+
Ww|N
X
th|w W|w

I
Wik wi|ld WA A WA
o +
X W
S X

j

(Simplification of product)

== (Simplification of product)

12
= TS +— 25 (Converting into like fraction by taking LCM)

20 )v;
- 2—5 = (Converting fraction into like fraction.)
20 +12 .
== (by adding)
=32 _ .7 (s fraction.)
=05~ E onverting into mix tion.
Mlustrati 10°§+l><Z
ustration 3 4 5
Solution : 2412
Solutiom : T * 4 * % 2 5 20
3+1x2 2 5 10
5 4x5 515] 5
=§+£ 1 1
5 20
Ix4 2
=5x4+5 LCM =2x2x5=20
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+
X
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Il

=

\D |~

L)

W W
+
W

Mlustration 11 :

+

i

Solution :

Wl Ll |-
Ln | W | e
+
W w | N

X
W | Lh
+

~J
X
W

|
+
win W

\o
X
w

35 2

27 3
35 2x9

=— + (LCM of 27 and 3 is 27, so, making denominator 27.)

27 3x9
35 18
_— —
27 27

35+18 _ 53 _ |26
21 21 27
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Mustration 12 :

Solution :

(= ) [ - NN

A~ AN

1x3 1X2 (LCM of 2 and 3 is 6, so making
3x2  denominator 6.)

+
|

A alh AP oalb
+
AW N
X
| W
NN

o

4 2 3 1 35
—+lEx=-=—==
6 3 10 3 6

.
e While simplifying four operations in fraction... ]

e If in the question, mix fraction is given then first convert it into fraction.

® Out of multiplication and division, in the given question, which one comes
first from left side, simplify it first.

e Keep in mind that division means multiplication with reciprocal.

e At last convert the fraction into like fraction and then do other operations.

e If answer is in improper fraction then convert it into mix fraction.




-—J-W ——ﬂ

Simplify the following :

(1)32+1§x§ o) i_ﬁxl.kz
576 9 @ % 2% u"%
2 2 5 2 3 2
S5— +— + = 4— — 9— + 2—
) 8 14 7 @ 3 5 15
6 4 2 1 9 4 13 3
- 2=— - = —_ il — X — = =
® 725" 11%% © 37X 75
Add the following :
3 2 4 3..2 1 3 1
= += —+6 ~+1= = +32 4+ 2=
(1) 571 (2) 7 3) s 2 4 25 + 35 + 23
Subtract the following :
6 3 5 5 1 7
—-—— 8 —3- 4 - — 8§— - 5—
(1) 9 18 @ 9 3) 11 @) 2 8
Multiply the following :
(l) gxi o] ExE 3 ixix& 4 8)(1)(%
15 18 @) 8 21 ) 10 7 25 @) 19 56
Divide the following :
18 36 1 42 2 1 72 18
— — 4 +— 0— + 4- — 22—
(1) 81 45 @ 5 50 ) 7 “) 7 21
Simplify :
(1) E % E —_ l o) Z i -+ E
3175 R TIET
3 2 )4 3& s 3 4 & s ﬁ - Z
3) 4 5 11 “) 9 45 7



N
Figure 1 Figure 2
No. of fig.| Shape | In fraction form | Make a pair of unlike fraction, from
given fraction in adjoining table.
7
0 | < o1 (1)
. @)
’ G)
@ | @ @

In the pair-1 of unlike fraction apply addition, in pair-2 apply subtraction, in
pair-3 apply multiplication and in pair-4 apply division and obtain the result.

@

[~ Answers o]

Practice 1
3 29 5 5 1 1
(1) 1§ (2) 35 (3) 4E (4) QE (5) 3E (6) 15
Practice 2
9 7 1 7 4 3
1) 7 @ T (3) 35 @l ()35 (6 4=



2. @ 3 @ .
e & L) 1 1 5
8 8 8 2 3 6
Q1| 2|3 O | 1|1
8 8 8 3 4 12
T [z | 3 T 1| 3
il 8 8 8 |l 6 12 12
Practice 3
1 5 7
3) I3 (4) 15 (5) 1
Practice 4
2 9 7
ms @37 G2 @1 O
© 5 04 ©® 5
Practice 5
W @R O 05 O3 O}
Exercise
1 4 7 )
[1] (1) 135 (2) 6 (3) 13 (4) 8
1 4 6 5
2] (1) 3 2) 43 (3) 33 () 23
- 2 9 6
[3] (1) 6 (2) ; (3) E (4) ;
[4] (1) 75 (2) 5 (3) 2 (4) 33
4 31 13 8
[5] 1) 3 @ 2 (3) 155 @) 1
»
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Revision

1. Fill in the blanks by selecting proper alternative :

(1) 3-(3)=27

(A) 0 B) -6 ©) 6 D) 3
@) (5)+6="2

A) 1) B)1 © 11 D) -11)
(3) What is the measure of complementary angle of 32° ?

(A) 68°  (B)78° (C) 58° (D) 68°

(4) What is the measure of supplementary angle of 32° ?
(A) 58°  (B) 148° (C) 138° (D) 78°

(5) Measure of an angle of linear pair is 125° then what is the measure of
another angle ?

(A) 55° (B) 75° (C) 65° (D) 45°
(6) What is the HCF of 13 and 22 ?
(A) 13 (B) 22 O 1 (D) 286
(7) What is the LCM of 14 and 42 ?
(A) 7 (B) 14 O 1 (D) 42
2. WVWith the help of numberline write the integers lying between :
(1) (-4) to 2 2) (1) to 6
3. Arrange the following in ascending and descending order with the help of
numberline :
(1) 2, (3), 4 (-5) @) (2), 0,3, (-5)



el W F

7.

—
h{&?} and JN intersects each other at poimt O. Measure of one angle formed by
intersection i3 120°, then find the measure of another three angles.

Find the result with the help of numberline : (1) 6 + (—2) (2)(—6)—5
Answer the following from givea figure :

/a (1) How mamy pair of vertically opposite angles are
/’ formed ?
o /C = (2) Write the pair of vertically opposite angles.
(3) How many pair of angles of linear pair are
/B formed 7 Which ?

Which butierfly s placed on which flower 7 Caleniate und decide :

' e Vi I: ' \ -I-'I
C ™ LYy et A y &g
< 16 17N = el 52 |ofl g 1,28
Slmsl g £4%0 17" 34
s G D)
@ @ ®
On flower (1) mnery 08 {2) ronenney 08 (3) vorrreny 08 (4) e and on (3) .ene. buttirflies
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Play the game :

(Read instructions and move.)

[Monkey, Frog, Butterfly, Grasshoper]

i

2 1 3|4 5 6|7

1211 [10] 9

37 | 36 |
38
39 | 40 i

Write missing numbers.

Grasshoper jumps every second box and moves on.
Butterfly jumps every third box and moves on.

Frog jumps every fourth box and moves on.

Monkey jumps every sixth box and moves on.

Upto 100, from which boxes all the four jump and move ? Find it.

Find perimeter and area formed by the length and breadth of the given

rectangle :

—'ClIl

3— cm
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i<~ Answers T

1)c @B ®C ®B (5) A 6 C (M D
(1) (3), (2), (1), 0, 1 (2) 0,1,2,3,4,5
(1) Ascending order : (-5), (-3), 2, 4 (2) Ascending order : (-5), (-2), 0, 3
(1) Descending order : 4, 2, (-3), (<5) (2) Descending order : 3, 0, (-2}, (-5)
60°, 120°, 60° 5. (1) 4 (2) (<11)
(1) Two pairs
(2) ZACY and Z XCB, ZACX and /BCY
(3) Four pairs
(1) ZACY and ZBCY (2) /BCY and /BCX
(3) £BCX and ZACX (4 ZACX and ZACY

63 3
Perimeter = 16 cm, Area = 7 Sqcmor 152 sq cm

L 4

T =Pi

In geometry & is used as a constant, basically it is 16th greek alphabet.
In 1700 AD mathematician of England showed the Pi as U-pin D manner.
In late 1859 Proof. Benjamin Pears gave the new version of the symbol
of Pi. For the first time, greek mathematician Ptolemy gave the value of &
i.e. 3.1416. Up to 1600 AD world's mathematicians consider this value
of m. But, after the invension of decimal system, it is clear that value of &
is infinite.

DU N ) WYy



Decimal Fraction

e Aashna bought three pens, from the market, at @ s
the cost of rupees 5 for 1 pen. While Akshat _{,: Tj 51 F-Erﬁ_ 5
bought three pens at the cost of ¥ 5.50 for I ﬁ"l’d %J é_:
1 pen. Say, how much rupees Aashma and g\i‘: il *L_. !
Akshat spent ? i . _—a
Aashna Akshat
5+5+5= ___ 5.50 + 5.50 + 5.50 =
or or

5%x3=______ 550x3=___  ?< (Now, what to do?)

Let us, start the calculation.

Step-1 Step-2

5.50 550 (2 Decimal Place)

x 3 X 3 {0 Decimal Place)

1650 16.50 (2 + 0 =2 Decimal Place)

RNeglecting decimal pohﬂ @y adding decimal Poinm
Answer @ Aashna spent Rs. 15 and Akshat spent ¥ 16.50.

e Now, let us find the rupees spent by Akshat by fraction.

5.50=22

100

5.50%3 =@x3 =@=16.50
100 100

s Answer : T 16.50
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<+ Product of decimal fraction with integer :

IMustration 1 : 3.75 X 5 IMustration 2 : 0.025 x 13
Solution : 3.75 (2 decimal place) Solution : 0.025 (3 decimal place)
X 5 (0 decimal place) x 13 (0 decimal place)
18.75 (2 + 0 = 2 decimal place) 250
3.75 x5 = 18.75 + 75

0.325 (3 decimal place)
0.025 x 13 = 0.325
lustration 3 : 3.073 x 12
Solution : 3.073
x 12

30.730
+ 6.146

36.876
3.073 x 12 = 36.876

e We have learnt that any number is multiplied by zero, the product is zero.
E.g, 6 x0=0, 125 x0 =0

Same way, if decimal fraction is multiplied by zero, the product is zero.
E.g, 34x0=0

670 x 0 =0

0x524=20

Product of decimal fraction with decimal fraction :

L
e

We have seen the product of decimal fraction with integer. Similarly, decimal
fraction is multiplied with decimal fraction, let us see some more illustrations.

_8td.6_
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Mustration 4 : 347 x 0.4 Ilustration 5 : 2.6 X 14
Solution : 347 (2 Decimal place) | Solution : 2.6 (1 Decimal place)
X 0.4 (1 Decimal place) X 1.4 (1 Decimal place)
1388 (3 Decimal place) 260
+ 104
3.47 x 0.4 = 1388 364 (2 Decimal place)
26 X 14 =3.64

Hlustration 6 : 236 X 114
Solution :

236
x 11.4

23600
+ 2360

+ 944
26.904

2.36 x 11.4 = 26.904

Multiplication of decimal fraction is done by neglecting decimal. Then, in the
product, total decimal place are placed from left to the unit place.

__ Practice 1

1. Maultiply the following :

(1) 225 x 4 (2) 0.035 x 12
(3) 4.203 x 15 (4) 7.604 x 0
(5) 3.5 x24 (6) 6.54 x 0.5
(7) 3.24 x 123 (8) 247x59
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2. Find mistake and sign with '/' or 'X' :

45 4.5

X 2.2 X 2.2
900 900
+ 90 + 90
99.0 9.90

0.24
x 0.2

0.048

02.4
x 0.2

0.48

<  Multiplication of decimal fraction with 10, 100 and 1000.

That you know very well.

3 x10= , 3 x 100 =

See and understand :

Decimal fraction

3.45 34510

100

= 345 =34.5
10

25
——x10
0.025 1000

= el =0.25
100

32325 %10

32.325 1000

_32325 _ 323.25
100

Q

32325

Multiply by 10 Multiply by 10(

345

—x100

100

= 345

32325

——x100

1000

10

=3232.5

, 3 x1000=____.
Let us multiply decimal fraction with 10, 100 and 1000.

345

Multiply by 1000

—x1000
100

25

= 345 x 10 = 3450

——x1000
1000

32325
1000

= 32325

%1000

- Std. 6
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Let us see other illustrations :
3.456 x 10 = 34.56

3.456 x 100 = 345.6

3.456 x 1000 = 3456

From the above illustrations, we conclude that...

® Multiplying decimal fraction by 10, decimal sign moves one decimal place
right side.

e Multiplying decimal fraction by 100, decimal sign moves two decimal place
right side.

® Multiplying decimal fraction by 1000, decimal sign moves three decimal place
right side.

45 Practice 2

1. Fill in the blanks :

(1) 34x10 =__ 2) 05x10 =__
(3) 046x 100 =__ (4) 297x10 =__
(5) 025%x 1000 =___ (6) 34%x1000 =__
(7) 21 x 100 = (8) 224%x100 =__

e Division of decimal fraction by whole number :
Asif has 525 marbles. He distributed these marbles to his five friends equally.

Then say how many marbles will be received by each friend ?

52 + 5 =

You know this division, but if figure is 5.25 + 5 then ?

So, let us do the calculation.

P BN )W
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Solution : Step-1 Step-2 Step-3

. 1. 1.05

5)5.25 5 ) 5.25 5)5.25

_5 _5

(Place the decimal-sign, ) 025

in quotient, exactly above 25

the decimal-sign of (Divide the integer if 00
dividend) it is possible.) (Neglect decimal-sign

during calculation)

525 +5=1.05

Mlustration 7 : 133 = 7

Solutiom :  Step-1 Step-2 Step-3
. 0. 0.19
7)1.33 7)1.33 7133
—7
)
(Place the decimal-sign | (Integer is not divisible, so &
in quotient, exactly place zero before decimal- 00
above the decimal-sign | sign (left side). (Complete the division by
of dividend) neglecting decimal-sign)
1.33 + 7 =0.19

MMlustration 8 : 22,5 +~ 18
Solution : 125

18) 22.50
-18
045
- 36
90  To complete division, place extra zeros as per requirement.

90 . 225:18=125
00

W@\ <D
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Mustration 9 : 0.1 +~ 8

Nlustration 10 : 0.06 =~ 5

Solution : 0.0125 Solution : 0.012
8)0.1000 5)0.060
5
—8
20 10
16 10
40 00
40 o 0.06 +~5=0.012
00
s 0.1+ 8=10.0125

Note : In this method, we do division upto two or three decimal place in quotient.

Mlustration 11 : 1 = 3

Solution : 0.33

3 i1.00

-9 Answer (quotient) of this type of division is written as
10 follows :
-9
1 1 '
1+3= 3= 0.33... = 0.3
A dot is placed on the digit which is recurring,
IMustration 12 : 3 + 11
Solution : 02727 Explaination : See, here in the remainder 8 and 3 are
11Y3.0000 recurring and in quotient 2 and 7 are recurring.
22 So, it is written as...
80 3+11 =0.2727
_77 * -_— L] ewn
30 = 0.27
—22
80 Dot is placed on both 2 and 7 as they are recurring.
'7; 3+ 11 =0.27

0O

Explaination : See, here remainder 1 is recurring.

So, in quotient 3 is recurring.

 Std. 6
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1. Dividing the following :

(1) 6.69 + 3 (2) 14.63 + 11 (3) 1392+ 12
(4) 483 + 14 (5) 2.214 ~ 18 (6) 45.645 + 15
(7) 8.892 = 19 (8) 39.39 = 13

e Division of decimal fraction by 10, 100 and 1000 :
Dear friends, we have learnt the product of decimal fraction by 10, 100 and 1000.

So, now let us see the division of decimal fraction by 10, 100 and 1000.

See and understand :

Decimal fraction | Division by 10 Division by 100 | Division by 1000
6.7 6.7 ~ 10 6.7 ~ 100 6.7 ~ 1000
67 1 67 1 67 1
=—X— =—X—- =—X—-
10 10 10 100 10 1000
-5 _o67 = _0067 | =81 —0.0067
100 1000 10000
26.4 26.4 + 10 26.4 + 100 26.4 + 1000
_264 1 4 1| 26
10 10 10 100 10 1000
2 o =280 _0264 | =22 _ 00064
100 1000 10000
2342 2342 + 10 234.2 + 100 234.2 + 1000
_ 2342xl _ 2342 XL _ 2342 +1000
10 10 10 100 10
= 2342 =23.42 = 2342 =2.342 = 2342 =0.2342
100 1000 10000
 Std. 6
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Let us see some other illustrations.
3456 ~ 10 = 34.56
345.6 ~ 100 = 3.456
345.6 +~ 1000 = 0.3456
On the basis of above illustrations we conclude that,
e If decimal fraction is divided by 10, then decimal-sign moves one decimal
place left side.
® If decimal fraction is divided by 100, then decimal-sign moves two decimal
place left side.
e If decimal fraction is divided by 1000, then decimal-sign moves three decimal
place left side.

" _ Practice 4

i

1. Fill in the blank :

(1) 1.4 + 10 =__ (2) 24.6 + 100 =__
(3) 232+100 =__ (4) 35.7 + 1000 =_______
(5) 3244+100 = (6) 620.5 + 1000 =__
(7) 02+ 10 =__ (8) 2+ 100 =__

® Practical problems :
In our daily life, sometimes we have to do multiplication and division. Let us see

some illustrations.

lustration 13 : A ration card owner gets 1 kg and 250 gm rice per head at Fair

value store, then a family of 5 members would get how much rice ?
Solution : 1 kg 250 gm = 1.250 kg

1 person gets = 1.250 kg rice 1.250
X 5
6.250

5 person gets = (1.250 kg x 5) kg
= 6.250 kg
5 members would get 6.250 kg rice.

= -
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Illustration 14 : Pirojbhai bought clothes of 9 m and 60 cm length. From this, he makes
6 pieces of equal length. How much is the length of each piece ?

Solution : 9m 60 cm = 9.60 m 160
6)9.60
length of 6 pieces = 9.60 m 6
length of 1 piece = (9.60 +~ 6) m 36
= 1.60 m 36
000

Length of each piece = 1.60 m

Hlustration 15 : Jalpa bought 14 pencils each cost of 1 rupee and 75 paise, and she
bought 1 pen cost of ¥ 13.50. How much rupees she has to spent ?

Solution : 1 rupee 75 paise =% 1.75 1.75
Cost of apencil =%1.75 x 14

. 1750

Cost of 14 pencils = Z (1.75 x 14) +700

= ¥ 24.50 24.50

Total money spent by Jalpa :
T 24.50 of pencils
+ T 13.50 of pen

T 38.00 Total
Jalpa has to spent T 38.00.
Iustration 16 : A hawker sells 4 sweetlimes at the cost of ¥ 14. If Piyush has

to buy 15 sweetlimes, then how much rupees he has to spent ?
Solution : Cost of 4 sweetlimes = T 14

Cost of 4 sweetlimes = 7

15x14 _15x7x2 _15x7 _105
4 2%2 2 2

= ¥ 52.50

Piyush has to spent T 52.50.

W"@"‘ <D
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Illustration 17 : A merchant had 25 kg and 750 gm rice. He buys another 25 kg and
500 gm rice. Out of these, he sold 42 kg 750 gm rice. Find the remaining rice.

Solution : 25 kg 750 gm = 25.750 kg
25 kg 500 gm = 25.500 kg
42 kg 750 gm = 42.750 kg

25.750 kg rice bought 51250 kg total rice
+ 25.500 kg another rice — 42750 kg rice sold
51.250 kg total rice 08.500 kg remains

The merchant has 8.500 kg rice.

Ramanbhai buys some items from a shop. Details of the bill is given. Fill up the
table as per the calculation of illustration.

Provision Store
Name : Ramanbhai Dt. 10-10-13
Bill no. : 161 Ilustration :
Details | Rate |Quantity| Total Price of Sugar
R/kg) ®
Sugar 29.50 4 kg 118.00 1 kg T 29.50
Wheat 1825 | 2.5kg | woecrrrreceerne 4 kg ?
Mung 8250 | 3kg | oo 29.50
Tuverdal | .......... 2 kg 128.50 X 4
Rice | .......... 3 kg 61.50 118.00
Total | ...ccoooe [eveemmeneanns Price of sugar is ¥ 118.00.
§

Practice 5

1. If cost of a pen is ¥ 6.25 then how much rupees are needed to buy 14 such pens ?
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2. Prabhaben donates ¥ 1001 to buy some items for 50 students of standard 1 of a
school. If this money is divided equally, then each student gets educational
items of how much amount ?

3. A shopkeeper had 12.500 kg potatoes. He bought another 15 kg potatoes. Out of
these, he sold cut 17.250 kg potatoes. Now, how much potatoes remains with
shopkeeper ?

4. Out of 100 metre clothes, 12 pieces of 2 metre and 25 cm sold out, then find the
remaining clothes.

5. How much rupees are necessary for Jigna to buy 5 toothbrush, each costing
¥ 12.50 and a toothpaste costing T 34.50 ?

e Division of decimal fraction by the decimal fraction :

Mlustration 18 : 1.5 + 0.5 | Illustration 19 : 2.4 + 0.06 Illustration 20 : 0.15+ 0.5

Solution : 1.5 + 0.5 | Solution : 2.4 + 0.06 Solution : 0.15 + 0.5
_15. 5 _24 . 6 _15 . 5
10 * 10 10 100 100 ° 10
=15>(10 =24><100 =15>(10
075 10 6 100 © 'S5

_ — -3 _

f;@/am
1. Hitesh and Hiral goes to market to buy some items for their home. Rate of items
are in kg. Answer the following questions on its base :

-

Wo=iEs

Mung Wheat Sugar Rice Tuverdal
T 60.50 T 15 T 30.50 T 20.50 T 72.00
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(1) How much is the price of 2 kg Mung ?
(2) How much is the price of 9.250 kg Wheat ?
(3) How much is the price of 2.500 kg Sugar ?
(4) How much is the price of 5 kg Rice ?
(5) How much is the price of 1.500 kg Tuverdal ?
(6) What is the total cost of Mung, Wheat and Sugar,
if they bought it as above ?
(7) What is the total weight of Mung, Wheat and Sugar ?

Solve the following :

(1) Out of 12 kg chilly powder, 35 packets are prepared each of 250 gm.
Find the weight of remaining chilly powder.

(2) A hawker sells 4 Oranges in ¥ 15. Wahab has to buy 20 Oranges. So, he

has to spent how much rupees ?

Activity : Dear friends, your parents would buy grossery. Fill up the table by
knowing rate and monthly requirement of different items :

Details Monthly requirement Rate Amount
Wheat
Rice
Sugar
Salt

Total

(1) 3.6 = 0.6 (2) 1.5 + 0.05 (3) 024 = 0.6
®

R BN ) W
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(1) 9 (2)
(5) 84 (6)
(1) 34 (2)
(5) 250 (6)
(1) 223 (2)
(5) 0123  (6)
(1) 0.14 (2)
(5) 3244  (6)
(1) ¥87.50
(4) 73 metre

1. (1) z121
(4) 102.50

2. (1) 3.250kg

3. (1) 6 (2) 30

&= Answers &G

Practice 1
0.42 (3) 63.045 (4) 0O
3.27 (7) 39852 (8) 145.73

Practice 2
5 (3) 46 (4) 297
3400 (7) 210 (8) 224
Practice 3

133 (3) 116 (4) 3.45
3043 (7) 0468 (8) 3.03

Practice 4

0246 (3) 0232  (4) 0.0357
06205 (7) 0.02 (8) 0.02

Practice 5
(2) 720.02 (3) 10.250 kg
(5) T97

Exercise

(2) 7138.75 (3) T76.25

(5) ¥ 108 (6) T 336 (7) 13.750 kg
(2) T75
(3) 04
@
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Ratio and Proportion

e Let us remember :

Sce the following pictures and do as per illustration :

Umbrella
~

(1) How much times is the cost of umbrella then wrist-watch ?

Here, price of wrist watch is ¥ 300 and price of umbrella is ¥ 100. 300 is
three times more than 100.

*  So, price of wrist watch is three times more than the price of umbrella.
*  Price of the umbrella is one-third of price of wrist-watch.
(2) How much times is the price of duster then chalk box ?

X
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(3) How much part is the cost of chalk box then the cost of duster ?

(4) Compare the cost of shoes and socks as above.

(5) From the given pictures except 1, 2, 3, 4 questions compare the cost of

two objects. (Prepare/Form questions by your own.)

Activity

e Read and do it as per instructions :

1
11
21
31
41
51
61
71
81
o1

2
12
2
32
42
52
62
72
82
57)

3
13
23
33
43
53
63
73
83
93

4
14
24
34
44
54
64
74
84
94

5
15
25
35
45
55
65
75
85
95

6
16
26
36
46
56
66
76
86
96

7
17
27
37
47
57
67
77
87
97

8
18
28
38
48
58
68
78
88
98

19
29
39
49

3 8

89
99

10
20
30
40
50
60
70
80
90
100

Fill in the blanks with the help of how much times or how much parts and

make a symbol on the digit according to instructions :

(M 2, 4,8,

do O on it.

- Std. 6
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2 1,3,9, do [ | on it.
3) 11, 22, 44, do /\ on it
(4) 80, 40, 20, do () on it
(5) 96, 48, 24, do { ) onit
o Gamel :
36 35 34 33 32 31
Fifth part of = Third part of = =
35 33
25 26 27 28 29 30
- Half of Ninth part of Half of 29th part of -
26 27 28 29

24 23 22 21 20 19
Fourth - - Third part of - -

part of 24 twenty one
13 14 | 16 17 18
= = Third part of Half of Double of =

fifteen sixteen seventeen
12 11 10 9 8 7
— Double of | Fifth part of | Three times Second part —
eleven ten of nine of eight
1 2 3 4 S 6
- Seven times | Two times - Fifth part -
of 2 of 3. of 5

~ Std. 6
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e Rules of the game :
1. This game can be played by any number of persons.
2. Take a coin for each person. Place it on Home'.
3. Take a die. Throw it, move ahead according to the number on the face
of die.
4. When you reach on any number, move on according to the instruction
given there.
5. If instructions is not written then wait for your next turn.
6. If two coins come on the same box, then the coin which reached first, he has
to go 'Home' again.
7. Whose coin reached first at number 36 ? He / She is the winner.
¢ Read and understand :
IMlustration 1 : Sapna has ¥ 10 and Asha has ¥ 40.
We can say four points about the comparision of amount they have.
(1) Asha has how much more rupees, then Sapna ? ¥ 30
(2) Sapana has how much less rupees, then Asha ? ¥ 30
(3) Asha has how much times more rupees, than Sapna ? 4 times
Here Asha has ¥ 40. Which is four times than 10. [40 = 4 x 10]
So, it is said that Asha has four times more rupees than Sapana.
(4) Sapana has how much part of rupees than Asha ? Fourth part

40
Here, Sapana has ¥ 10, which is fourth part of 40, [10 :T] So, it is said that
it is fourth part.

Ilustration 2 : Cost of a ring is ¥ 30 and cost of a chain is ¥ 60. For this, we

can compare four points as follows. (Write your answer.)

(1) Cost of a chain is how much more than cost of a ring ?

(2) Cost or a ring is how much rupees less than cost of a chain ?

DU N O WYy
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(3) Cost of a chain is how much times than the cost of a ring ?
(4) Cost of a ring is how much part of the cost of a chain ?
IMlustrafion 3 : Cost of a dish is T 48 and cost of a bowl is ¥ 16, then compare the cost

of a dish and a bowl as per previous illustration.

e Fill is yourself :
)
©)
3)
4)

Thus, we can compare the things in our everyday life. We can compare the

things in two ways :

(1) Method of difference

(2) Method of ratio.

With the help of method of difference, we know that value of one thing is how
much more or less than other. While, with the method of ratio, it is known that value
of one thing is how much times or part of than other.

In previous illustration : In (1) and (2) information in 1 and 2 shows the comparision
by method of difference and information in no. 3 and 4 shows the comparision
by the method of ratio.

e Ratio : The comparision, which shows one number is how much times or how

much part of other number is called Ratio.

It is denoted as @ : » (Read : a is to b) or %.

¢ Remember :
e For ratio or comparision units of both measures must be same.

e.g. It is not possible to find ratio of 18 cm and 51 kilogram.

.. Numerator .
e Ratio is denoted as - or Numerator : Denominator.
Denominator

e Ratio is written in its simplest form.
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¢ To find Ratio :

Mlustration 4 : Find ratio of 3 and 9.
3 3x1 1

Solution : 6 = m -3

Ratio of 3 and 9 is % or 1:3.

IMustration S : Find ratio of 20 paise and 3 rupees.

Solution : Here, we have to convert the different units into same units.

T 3 = 300 paise
20 1x20 1

Now, 300 ~ 15%20 15

Ratio of 20 paise and 3 rupees is % or 1:15.

While finding ratio write first number in numerator and second number in

denominator. In previous illustration (5)...
In previous illustration : In (5)

(1) Ratio of 20 paise and 3 rupees is 1:15,

It is written as 20 = i
300 15
(2) Ratio of 3 rupees and 20 paise is 15:1,
It is written as 0 _ E
20 1

e Think :
(1) What is the ratio of 15 and 19 ?
(2) What is the ratio of 9 and 21 ?
(3) What is the ratio of 5 litre and 10 metre ?
(4) Ratio of 30 minutes and 20 gram is possible ?
(5) Find ratio of 700 cm and 21 metre.
(6) Find ratio of 720 gram amd 12 kg.

- Std. 6 |
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(1) Cost of a pair of scissor is ¥ 40 and cost of a pen is ¥ 10, then find the ratio
of cost of the pair of scissor and the pen.

(2) In a school, in standard 6, number of boys are 30 and number of girls are 20,
then find the ratio of number of boys and girls.

(3) Weight of Pratik is 40 kg and weight of his father is 50 kg. Find the ratio
of weight of Pratik and his father.

(4) Cost of a belt is T 60 and cost of shoes is T 150, then find the ratio of cost
of the belt and shoes.

¢ Read and understand :

Miustration 6 : Reena spent ¥ 24 for 6 ballpens. Shailee spent ¥ 32 for 8 same
ballpens. Find the ratio of number of ballpens and also find the ratio of cost of
ballpens spent by both the friends.

. Number of ballpens of Reena
Solution : Ratio of number of ballpens = Number of ballpens of Shailee

6

8
Zx3
Zx4
i 3
Ratio of number of ballpens = 1
Cost spent by Reena
Cost spent by Shailee
24
32
gx3

— Ex4

i 3

Ratio of cost of ballpens = 1

In this illustration ratio of No. of ballpens and ratio of cost of ballpens are

Now, Ratio of money spent by both =

same. Therefore, 6, 8, 24 and 32 are called in proportion.
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e Proportion :
e If two ratios are given same, then those four numbers are called in
same proportion. It is denoted by :: or = symbol.
In illustration 6, 6 and 8, 24 and 32 are in same ratio, therefore they are called in
same proportion. It is denoted as 6 : 8 :: 24 : 32 0or 6 : 8 = 24 : 32,
¢ Know these :
e Proportion shows the relation between two ratios.

e In proportion total four numbers (term) are there.

e If four numbers are in proportion, then product of first and fourth numbers

and product of second and third numbers are same.
For illustration 6; 6, 8, 24, 32
Product of first and fourth number =6 x 32 = 192
Product of second and third number = 8 x 24 = 192
So, it is said that 6, 8, 24 and 32 are in proportion.
Mlustration 7 : Verify that 4, 5, 6 and 7 are in proportion or not ?

Solution : Ratio of 4 and 5 = %
: _ 6
Rat100f6and7—7

They are not same ratios, therefore 4, 5, 6 and 7 are not in proportion.
or
Here, product of first and fourth number = 4 x 7
= 28
Product of second and third number = 5 x 6
= 30

These products are also not same. So, it is said that 4, 5, 6 and 7 are not in
proportion.

N~
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<+  Check the following mumbers are in proporfion or mot ?

M 3, 7, 9, 21 (@) 10, 15, 16, 24
@ 17, 6 12, 13 (5) 25, 30, 40, 50
() 4, 8, 10, 20 6 9, 11, 20, 21

e Activity 2 :
Fill up the following table from given pictures and write cost of one item :

Ballpen

No. | Coat of |Cost of | Cost of | Cost of Cost of Cost of Nomber Coxt
itema 1 ftem 2 Htem 3 Hem 4 ftem 5 item of ltems |Incresses

incresses or
or fdecreases?

Name decreases?

(1) | Ballpen

(2) Chocolate

(3 ) mwtlg-
book

(4) | Spects

5 School-
(5) bac

¢ Cost of 1 dozen (12 nos.) items are given as per following pictures. Fill
up the table from that :
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Seal S—— - ==
X 60 ' Rounder Notebook
Compags-box < 144
Z 132 $o0 g
S
\1-.-.
T 240
No.| Name | Cost Cost Cost Cost | No. of item Cost
of of of of of increases | increases
item [12 Nos| 6 Nos. | 3 Nos. | 1 No. or or
decreases? | decreases?
(1) | Scale
(2) |Rounder
(3) | File
(4) | Notebook
Compass-
®) box

Direct Proportion : When one quantity increases, at the same time the other quantity

also increases at the same way or when one quantity decreases, at the same time,
the other quantity also decreases at the same way, then these quantities are called in
direct proportion.

Know these :

In direct proportion, ratios are same.

information out of four, then it is calculated as below :

When quantities are in direct proportion and when we have to find one

- Std. 8
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Information about same units...
a : b
¢ :d
If a, b, ¢ and d are in direct proportion and if d has to be found then...

d=b><c

a

IMustration 8 : If cost of 6 chocolates is ¥ 3, then find the cost of 14 chocolates.

Solution : Here, when number of chocolates increases, then its cost also

increases. So, according to direct proportion.

No. of chocolates Cost ()
a==6 b=3
c=14 d=1?
d = bXc
a
_ 3x14
6
_2%x3x7
3x2
=7 s d=7 Thus, cost of 14 chocolates is T 7

e Another method :

Cost of 6 chocolatess = T3
Cost of 14 chocolates = 7
_ 14x3
6
=v7
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(1) Total 100 kg wheat is to be filled in 5 jute bags of equal size, then in such
7 jute bags how much kilogram wheat is to be filled ?
(2) Four boxes of equal sizes contain 240 soaps, then in such three boxes how

many soaps are there ?

(3) 3600 litre water is needed to fill up six tanks of equal sizes, then with 8400 litre
water how many such tanks are needed ?

(4) To buy 8 waterbags of equal size ¥ 560 is necessary, then how much
amount is necessary to buy five such waterbags ?

(5) A printing machine takes 15 minute to print three pages of a book. If the
book contains 56 pages, then how much time is taken to print total book by
this machine ?

¢ Read and understand :
Khyatiben has 100 chocolates. If she distributes cholocates to the children as
per following manner, then observe the number of chocolates obtained by each child.

No. of children No. of chocolates obtained
by each child

100 1
50 No. of 2 No. of chocolates
25 children 4 obtained by
20  decreases 5 each child
10 10 increases

20
2 50

100

¢ Inverse Proportion :

When one quantity (measure) increases, at the same time, another quantity
decreases at the same rate or if one quantity decreases, then another quantity
increases at the same rate then these quantities are called in inverse proportion.

DU N ) WYy
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Know these :

When quantities are in inverse proportion and if we have to find one information
out of four then,

Information of same units Related information

a b
c d | to find

d=axb

[

Ilustration 9 : In a school, during midday -meal, grains for 140 students lasts for 25 days.
If these grains lasts for 35 days, then how many children are there in the school ?

Solution : Days Children
a=25 b=140
¢ =135 d="7
d = axb

c
_ 25x140
35

= 100 children are there.

Illustration 10 : Grains purchased from flood relief-fund, is distributed among

1500 persons then each would get 12 kg grains. If the same amount of grains
is distributed among 900 persons then one would get how much kg grains ?

Solution : Persons Grains (in kg)
a = 1500 b=12
¢ =900 d=?
d = axb
c
_1500x12
T 900
= 20 ~. d = 20 kg grains
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(1) Kanchanben distributes some chocolates among 300 students, then one would
get 4 chocolates. If she distributes same chocolates among 400 students
then one would get how much chocolates ?
In a class 15 benches are there. 4 students are sitting on each bench. If number
of students remains same and 12 benches are there then on each bench
how many students have to sit ?
Mansukhbhai distributes some kg of grains among 150 persons then each
would get 7 kg grains, whereas Jitubhai distributes same kg of grains among
210 persons, then how much amount of grains each would get ?
Amount of blind person fund collected from a school of a village is distributed
among 81 persons, then each would get ¥ 600. If the same amount is
distributed among 54 persons then find the amount obtained by each person.
e Activity 3 : (1) In your village or a city go to the nearest provision store or
fairdeal price store, and make a list for the proportion (amount) of different
grains, oil, kerosene etc. items. If all these items are distributed to your
friend/neighbour's family member, then make a list that each would get how
much amount ? One illustration is given below, perpare another table like this
for your information.

@)

€)

@

Name Amount No. Per person
Wheat 200 kg Name | family
Rice 160 kg member | Wheat | Rice | Bajara | Sugar Oil| Kerosene|
Bajara 80 kg (1) Astha| 4 50 |40 | 20 |35 |[100| 80
Sugar 140 kg kg |kg | kg | kg |litre] litre
Oil 400 litre
Kerosene 320 litre

Friend'sl No. of

[ —

: -:-_—_’-f_:_':-j_}.; - f;:}bﬂ

Exercise

M.
(& é}?_

(1) Price of a scooter is ¥ 45,000 and price of a bicycle is ¥ 5000, then
find the ratio of price of bicycle and a scooter.
(2) In a cloth-shop there are 150 metre silk clothes and 200 metre cotton
clothes, then find its ratio.

(3) Verify that following digits are in proportion or not :
(3) 2,11, 4, 21

(1) 2,7, 14, 49 @) 3,21,5,35
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(4) Ektaben could buy eleven similar purses in ¥ 1320, if she gives T 960,
then how many such purse could she buy ?

(5) A car covers 120 km distance in 3 litre petrol, if 7 litre petrol is filled up in
the car tank, then find the distance covered by the car.

(6) In a school, on a clean village-day 150 students takes 6 hours to clean

village, if 180 students do this work, then find the time to clean the village
completely.

(7) In a school, during cultural activity programme, donation obtained from donor
is distributed among 33 winning students then each would get ¥ 80. If
this amount is distributed among winners of sports-competition, then each
would get ¥ 120, then how many students win the sports-competition ?

® What have we learnt ?

® A number is how much times or how much part of another number, this

comparision is called ratio. It is denoted as : (is to).
e For ratio both units must be same.
e Ratio is denoted as in its simplest form.

¢ The numbers, which both ratios are same, then these four numbers are
called in proportion. It is denoted as :: or =. [@: b::c:d]

e If one quantity increases, at the same time other quantity also increases or
one quantity decreases at the same time another quantity also decreases

then it is called direct proportion.

e For direct proportion, formula is d = b><c.

a

e If one quantity increases, then another decreases and if one quantity
decreases, then another increases, then it is called inverse proportion.
axb

Its formula is d =

c
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¥ Answers gy
Practice 1
(1) 4:1 2) 2:3 (3 4:5 4 2:5
Practice 2

(1) In proportion (2) Not in proportion (3) In proportion

(4) In proportion (5) Not in proportion (6) Not in proportion
Practice 3

(1) 140 kg wheat (2) 180 soaps

(3) 14 tanks (4) T350

(5) 280 minutes or 4 hours 40 minutes
Practice 4

(1) Each would get 3 chocolates (2) 5 students would sit

(3) 5 kg grain (4) T 900
Exercise

(1) 1:9

(2) 3:4

(3) (1) In proportion (2) In proportion (3) Not in proportion

(4) Ektaben could buy 8 purses.
(5) Car can cover 280 km distance.
(6) Clean village in 5 hours.

(7) 22 students are winner.
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Circumference and Area of Circle

¢ Let us remember :

® Measure the following radius of a circle. Fill in the blank given below the figure :

C M R
X
B N

A
S Y
Name of centre Name of centre Name of centre
Measure of radius _____ cm Measure of radius ____ em Measure of rading ____ cm
Measure of diameter —__ ¢m  Measure of diameter ____ ¢cm Measure of diameter __ ¢m

e Think :
e Measure of diameter is how much times more than measure of radius ?
e Measure of radius is how much then measure of diameter ?
e What is the measure of diameter of a circle whose radius is 12 m ?

e What is the measure of radius of a circle whose diameter is 20 m ?

Radius is denoted as r.
Diameter is denoted as d.

%« Diameter = 2 X radius, .. d=2Xr=2r
. diameter _d
Radius = > Lr=
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® Recognize the following figures and find its perimeter :

Perimeter = Perimeter =
e Think :
e What is the perimeter of a square 7
e What is the perimeter of a rectangle ?
¢ Formula to find perimeter of a square is

e Formula to find perimeter of a rectangle is

e Let us learn new :

One day, Nija found a cap of a bottle, she measures the edge of a cap with the
help of a string. It is really fun for her. See, how she does it ?
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Activity 2 : Now, measure the length of the circular edge of card-board with

the help of string.

e In activity 1, which digit do you notedown ?
e In activity 2, what is the length of the string ?

From above activities we measure the length of circular edge. Which is called
perimeter of a circle. Perimeter of a circle is known as circumference.

Activity 3 :

e Cut the circle of 3.5 cm, 7 cm, 10.5 cm and 14 cm radii from card-board

and measure the circumference.

e Fill up the following table from your activity :

No. Radius Diameter Circum- If circumference is If diametre is multiply |
(r) (d) ference divided by diamete. by %
Circumference + Diameter X %
1

(1) 35cm

2) 7cm

3 105cm

4 14 cm

e When circumference is divided by diameter then what is the result everytime ?

Ratio of circumference and diameter is shown as 1t (Pi). & is a greek alphabet. Value
of & is taken approximate.

Multiplication of diameter and = is equal to circumference.
Circumference = ® X diameter
Also, we know that diameter = 2 X radius

Therefore, circumference = ® X 2 X radius

() <D
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Circumference = 2 X ® X radius (commutative law for multiplication)

Circumference = ©t X radius Circumference = 2 X m X radius
Circumference = &t X d = nd ;. Circumference = 2 X T X r

Circumference = 2nr

Now, activity is not necessary every time to find circumference of a circle. But it is

known from above relation. e.g...
Ilustration 1 : Find circumference of a circle having radius 7 cm.
Solution : Radius = r =7 cm

Circumference of a circle = ?
.. Circumference of a circle = 2wr =

= 44 cm
Circumference of a circle is 44 cm.
IMlustration 2 : Find circumference of a circle of diameter 21 metre.
Solution : Diameter = d = 21 m
Circumference of a circle = ?

Circumference of a circle = nd

3
2 5

=7 X £/
777

=22 x 3

= 66 m

Circumference of a circle is 66 m.

R OV O
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Mustration 3 : Find circumference of a circle of radius 2.8 metre.
Solution : Radius = r=2.8 m

Circumference of a circle = ?

Circumference of a circle = 2nr
= 2 X 2 X 2.8
7
4
2. n X
1 7 10
_ 2%x22x4
10
_ 16
10
=176 m

Circumference of a circle is 17.6 metre.
IMlustration 4 : Find the circumference of a circle of diameter 6.3 cm.
Solution : Diameter = d = 6.3 cm
Diameter of circle = 7

Circumference of a circle = nd

=¥xm
9
=2_£
7
22 % 9
10
198
T 10

= 19.8 cm .. Circumference of a circle is 19.8 cm.
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e Practice 1

Calculate circumference of a circle from given information :

No.| Radius (r) Diameter (d) Circumference

(1) 70 cm
2 — 14 metre
(3)| 49 metre
4) 35 cm
ey — 42 metre
(6) - 5.6 cm

Find circumference of a circle of diameter 140 cm.
Find circumference of a circle of radius 56 metre.
Find circumference of a circle of diameter 4.2 cm.
Find circumference of a circle of radius 9.8 cm.
Find circumference of a circle of diameter 9.1 metre.

Dy N e

N

e When measure of radius of a circle is given, then to find
circumference of a circle formula ‘circumference = 2mr'.

® When measure of diameter of a circle is given, then to find
circumference of a circle formula ‘circumference = nd'.

Practical problems about circumference :

Mustration 5 : Radius of a wheel is 35 ¢cm. If the wheel rotates 100 turns, then find

the distance covered by it.

Solution : To find distance covered by the wheel, first we have to find its
circumference.

Radius of the wheel = » = 35 ¢cm
Circumference of the wheel = 2nr

5
=2x2x

7
=2X22xX5 =220 cm

 Std. 6
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If wheel rotates 1 rotation, it covers distance equals to circumference.

Distance covered by the wheel in 1 rotation = 220 cm

100

Distance covered by the wheel in 100 rotation = -] X 220

= 22,000 cm

= 220 metre
Mlustration 6 : Radius of a circular garden is 28 metre. To prepare a fence surrounding
this garden, what is the cost of labour at the rate of ¥ 5 per metre ?
Solution : Here, we want to construct fence, surrounding the circular garden.
So, we have to find circumference of garden.
Radius of circular garden = r = 28 metre

Circumference of circular garden = 2xr

4
=2x2x

7

=2X22%x4
= 176 metre
Thus, 176 metre fence is needed, surrounding the garden.

Cost of labour for 1 metre fence =T 5

176
Cost of labour for 176 metre fence = ¥ T X35

= ¥ 880
Cost of labour for fence surrounding the circular garden is ¥ 880.

R BN ()N
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Ilustration 7 : Diameter of circular carpet is 49 cm. If it has to be surrouneded by a
golden plate then how much plate is needed ? If cost of 10 cm plate is ¥ 10, then
find the cost to fix the plate.

Solution : First, find circumference of circular carpet.

Diameter of carpet = d = 49 cm

nd

2n 7
= =2 %

7

=22 x7

Circumference of circular carpet

= 154 ¢cm
154 cm long plate is needed.

Cost of fixing 10 cm plate = ¥ 10

A 154
Cost of fixing 154 cm plate = ¥ 571 x W

=T 154
Thus, cost of fixing plates on circular carpet is ¥ 154.

Illustration 8 : Diameter of a wheel is 1.05 metre. If this wheel covers 33 km

distance, then find its rotations.

Solution : Diameter = d = 1.05 metre
15

Circumference of the wheel = nd = 22 x 1.05 =22 x 165 _ 22x15
7 7 100 100

= 3.3 metre

If wheel rotates 1 rotation, then it covers 3.3 metre distance.

R OV ()N



A

e S & ad —
'_L 7 : Circumference and Area of Circle | ﬂ v

This wheel covers 33 km distance.
33 km = 33 X 1000 = 33,000 metre
No. of turns to cover 3.3 m distance = 1

33000 x1

No. of turns to cover 33000 m distance = 33

1000
33000 x10
¥

= 1000 x 10

= 10,000
If the wheel covers 33 km distance, then it rotates 10,000 turns (rotations).

S Practice 2

Radius of the cricket ground is 70 metre. To make boundary, a rope is to be fixed

surrounding it. If cost of fixing the rope of 1 metre is ¥ 20, then what is the
total cost to fix the rope on boundary ?

A student makes 4 rounds surrounding the circular ground. If diameter of the

ground is 70 metre, then how much metre does the student run ?

Radius of the wheel of a cart is 42 ¢cm. An iron-plate is to be fixed on the edge of
wheel, then how much cm long plate is needed ? If cost of 10 plate is ¥ 20,
then what is the total cost of iron-plate ?

Sarlaben stiches golden plate on edges of circular bed of 7 metre diameter. Labour
to stich golden plate is ¥ 3 per 1 metre. Find the labour charge of Sarlaben.

Diameter of circular lake is 133 metre. Wire fence is done surrounding the lake.

Cost to prepare 1 metre wire fencing is ¥ 10, then find the total cost of fencing.

DU ¢ WYy
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e Think :
® What is called area ?

e Which units are used to measure area ?

Figure : 1 Figure : 2
e What is the area of fig. 1 ?
¢ What is the area of fig. 2 ?
® Write the formula to find the area of rectangle ?
e What is the formula to find the area of square ?

Thus, area means region occupied by any object or figure on the surface or

region occupied by closed figure in the plane.

Now, do the following activity to find area of circle.

Figure Understanding

e Draw a circle of any radius on a
card-paper.

e Cut the circle.

e Draw 8 diameters in the circle, so that
circle divides into 16 equal parts.
o  According to diameter cut the 16 parts

of circle with a pair of scissor.
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Figure Understanding

A e . O e Arrange all 16 parts up and down

according to figure.

e Now, a rectangle is formed.

T e M PN A

Area of rectangle = length X breadth

1
Here, length of rectangle is equal to ) circumference and the breadth is equal

to radius.

circumference X radius

1
Area of rectangle = 3

1
=5x2nrxr

= nr
Here, rectangle is formed, from 16 equal parts of circle.
Area of rectangle = Area of circle
2 = Area of circle (. » = radius)
Area of circle = ©r2

d
We know that » = — (Here, d = diameter)

2
So, in area of circle = w#?, place r = )
g\
Area of circle = = (E)
= — X —
)



s _— - ad .
Aﬂ '_L 7 : Circumference and Area of Circle | ﬂ v

dez
=T

2
Area of circle = %
Mlustration 9 : Find area of circle of radius 7 cm.
Solution : Area of circle = = 7 ¢cm
Area of circle = wr?

2

=22 X7
= 154 sq cm
Area of circle is 154 sq cm
IMlustration 10 : Diameter of circular ground is 42 metre. What is the area of this

ground ?
Solution : Diameter of the ground =d =42 m

Method : 1 Method : 2
s = Diameter
2
42 2
Rad.ius=r=?=21m Areaoftheground=%
22 422
Area of the ground = nr? =7XT
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2 _ 22 2x4
= 7 X =77 4
=22 ﬁ 21 = 1386 sq metre
7 1
=22%X3x21
= 1386 sq metre

Area of circular ground is 1386 sq metre.

Mlustration 11 : A farmer makes a flower bed of 7 metre radius to sow flowers. He
has to buy fertilizer for it. 1 kg fertilizer is necessary for 1 sq m. area. How much
fertilizer he has to buy ?

Solution : Here, fertilizer is to buy for circular flower bed. So, first find out area of
flower bed.

Radius =r =7 m
Area of the flower bed =

22
=— X7

=22 %7
= 154 sq m
Area of flower bed is 154 sq m.
For 1 sq m area = 1 kg fertilizer is necessary.

154
1

= 154 kg
Thus, farmer has to buy 154 kg fertilizer.

R OV O
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Ilustration 12 : Dineshbhai wants to draw a painting, in the circle of 140 cm diametre

on the wall of his drawing-room. Cost of drawing a painting is ¥ 5 per 100 sq cm,
then what amount Dineshbhai has to pay ?

Solution : Here, painting is done on the wall in the circular manner. So, first find

out the area of a circle.
Diameter = d = 140 ¢m

Diameter

Radius = r = >

140
2

= 70 cm

Area of a circle =

22
=7><'702

10
—Ex)o’xm

7

22 x 10 x 70

= 15400 sq cm
Area of the circle is 15,400 sq cm.
Cost of painting in 100 sgcm =T 5

15498 x 5]

Cost of painting in 15400 sqcm =X [ 190

=T (154 x 5)
=T 770
Thus, Dineshbhai has to pay ¥ 770 for painting.

R OV (D)W
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45 Practice 3

Find the area of the circle from given information :

No. Radius (r) Diameter (d) Area of circle
(1) 42 cm

ey 14 metre

(3) 14 cm

4) 28 metre

(5) 35 cm

6) — 5.6 metre

Radius of the circular swimming pool is 70 cm. Then find the area of the
bottom of the pool.

In a school, exactly at the middle of the stage of the assembly hall, after drawing
a circle of 2.8 m radius, a beautiful picture is to draw in it. Cost for drawing is
T 300 per 1 sq m. What is the total cost of drawing a picture in this circle ?
Diameter of a circular plot is 19.6 m. Cost of levelling this plot is ¥ 50 per sq m,
then find the cost of levelling the plot.

Diameter of a watertank is 1.4 m. Tiles have to fix in its bottom. If labour charge
to fix the tiles is ¥ 60 per sq m, then find the total labour charge to fix the tiles.

.
e If measure of radius of a circle is given, then use the formula ®n#* to find

the area of the circle.
e If measure of diameter of a circle is given, then first find out radius and
then use the formula w72 to find the area of the circle.

2
e If measure of diameter of a circle is given, then to find area of a circle, v

formula is also use.

DN RN )
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1. Fill up the following table :

No Qadius (7) Diameter (d) Circumferenc: Area of circle
(D 0.7 m

) S 84 cm

(3) 140 metre

4 49 cm

() J— 70 cm

2. Diameter of a bengle is 7 cm. Thin stripe of gold is to be fixed on this bengle,
find the cost for it at the rate of ¥ 100 per 1 cm.

3. Radius of a marry-go-round is 7 m. At its edge, at equal distances swings are
suspended. If length of an arc between two successive swings is 4 metre, then

find the number of swings that marry-go-round has.

4. Diameter of the wheel of horse-cart is 1.40 metre. How much distance is covered

by this wheel in one rotation ? How much distance is covered by this wheel in
500 rotations ? If it covers 77 km distance then find no. of turns (rotations).

S5. A heritage stepwell is secured by a circular wire fence. Radius of this circle is
17.5 metre. Find the cost of fencing at the rate of ¥ 50 per metre.

6. Radius of the circular ground is 10.5 m. What is the cost to fill up this ground
with soil at the rate of ¥ 150 per sq m ?

7. Radius of the circular garden is 9.1 metre. What is the cost of preparing lawn

in it at the rate of ¥ 100 per 1 sq metre ?
&

’\M@\-\ (std. 6
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i~  Answer ¥

Practice 1

(1) 140 cm, 440 cm (2) 7 metre, 44 metre (3) 98 m, 308 metre

(4) 7 cm, 22 cm (5) 21 metre, 132 metre (6) 2.8 cm, 17.6 cm

440 cm 3. 352 metre 4. 132 cm 5. 616 cm 6. 28.6 metre
Practice 2

T 3800 Z. 880 metre 3. 264 cm, T 528 4. ¥ 66 5. ¥ 4180

Practice 3
(1) 5544 sq cm (2) 154 sqm (3) 6.16 sq cm
(4) 2464 sq m (5) 3850 sq cm (6) 24.64 metre
15400 sq cm 3.3 7392 4. T 15092 5.¥924
Exercise
(1) 1.4 m, 44 m, 1.54 sq m (2) 42 cm, 264 cm, 5544 sq cm

(3) 280 metre, 880 metre, 61600 sqm  (4) 9.8 cm, 30.8 cm, 75.46 sq cm
(5) 35 cm, 220 cm, 3850 sq cm

¥2200 3. 11 swings 4. 4.4 cm, 2200 cm, 17500 turns

T 5500 6. T 51,975 7. T 26,026
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Revision

1. Answer the following questions by selecting proper alternative :

(1) (2) - (2) = ? [ ]
(A) 0 (B) 4 (C) -2 (D) 4

(2) Arrange (—4), 3, 2, 0, (-1) in ascending order. ]
(A) 0, 2, 3, (-1), (-4) (B) (4), (-1), 0, 2, 3
(C) (-1), (4), 0, 2,3 (D) 0, (1), 2, 3, (-4)

(3) What is the measure of complementary angle of 12°? ]
(A) 68° (B) 78° (C) 88° (D) 72°

(4) What is the measure of supplementary angle of 108° ? [ ]
(A) 76° (B) 62° (C) 72° (D) 82°

(5) What is the measure of vertically opposite angle of 71° ? ]
(A) 91° (B) 109° (C) 19° (D) 71°

(6) What is the HCF of 7 and 17 ? ]
(A) 7 (B) 1 (C) 119 (D) 17

(7) What is the LCM of 8 and 12 ? ]
(A) 8 (B) 12 (C) % (D) 24

(8) Out of the following which pair has HCF 1 ? [ ]
(A) 33 and 37 (B) 2and 8
(C) 7and 21 (D) 25 and 75
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(9) What is the reduced form of 0 ? ]
®) 5 ® © 2 ® 2
(10) 7% + 8L =7 ]
2 2
(A) 16 (B) 155 () 52 D) 15
(11) Perimetre of circle is known as [ ]
(A) Area (B) Volume (C) Diameter (D) Circumference
(12) What is the approximate ratio of circumference of a circle and its
diameter ? [ 1
Wy @2 © 2 ®) —~
2. In the following questions place, proper digit in place of ? :
(1) 8 16 32 ? [ ]
(2) 1 5 ? 125 ]
(3) 10 30 9% ? [ ]
(4) 1 7 ? 343 ]
(5) 2 36 18 ? [ ]
(6) 216 72 ? 8 ]
(7) 750 ? 30 6 [ ]
(8) 686 ? 14 2 ]
(9) 10,000 1000 ? 10 [ ]
(10) 648 108 ? 3 ]
W\@\
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Fill in the blank by placing proper digit :

34 X

34

0.034 6.7

Arrange the following integers on the numberline and go ahead according

to instructions : (Answer on numberline)

CIIEPICRI DI EDIEDIEDICDY

(1) Arrange in ascending order.

(2) Arrange in descending order.

(3) Show integers between (—11) to 2 on numberline.

(4) Give result of (-8) + 2.

(5) Give result of (—4) — (-11).

Find the measure of complementary angle and supplementary angle of 64°.

If measure of one angle of linear pair is 102°, then find the measure of second

angle.
Find HCF of following numbers :

(1) 35, 77 and 84 (2) 30 and 110 (3) 78, 96 and 108
Find LCM :
(1) 36 and 54 (2) 27, 54 and 81 (3) 15, 25 and 30



-

9. Complete the table with proper calculation :

AEERE
X X +
% | - Ly
9 12
10. Solve the following :
(1) 3.68 x5 (3) 25.665 + 15
(2) 5.34 x 0.03 (4) 84 +7
11. Mayank is 8 years old and his sister Shilpa is 12 years old, then find the ratio
of both ages.

12. If 20 litre oil is fill up into 4 jars, then what is the capacity of 7 such jars ?

13. Out of 450 flowers 9 garlands are prepared of equal size, then how many garlands
are prepared from such 600 flowers ?

14. 252 students take 3 hours for decorating the school. If 372 students together do
this work, then this work completes in how much time ?

15. Diameter of circular ground is 98 metre. If a student walks 14 metre per minute
at the edge of the ground then how much minute does he walk ?

16. On the wall of school's prayer hall, in a circle of 70 cm radius, a picture of Nature
is to be drawn, if the cost of drawing is ¥ 5 per 100 sq cm, then find the total cost.

17. Radius of the sports ground is 28 metre. Find the cost of levelling the ground at
the rate of ¥ 10 per sq m.

P
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¥~ Answers ¥

1. (1)A(@)BB)BM4)C(5)D(6)B(7)D(8)A(9)C(10)A(11)D (12) B
2. (1)e64 (2)25 (3)270 (4)49 (5)9 (6)24 (7) 150 (8)98 (9) 100 (10) 18

3. 34 X 10 = 34
+ X
100 | x 067 | = 67
0.034 6.7
5. Complementary angle - 26°, Supplementary angle - 116°
6. Measure of another angle - 78°
7. (1)7 (2) 10 (3)6 8.(1)108 (2)162 (3)150
9, 1 2 | = | 3
7 | 7
X X +
1 = |4l =12
9 ' 12 3
1 1 23
9 3 21

10. (1) 1840 (2)0.1602 (3)1.711 (4 1.2

2
11. Ratio of age of Mayank and Shilpa is 3 12. 35 litre oil

14. 2 hours 15. 22 minute 16.3 770 17.% 24,640

13. Total 12 garlands

4
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Introduction to Computer-1

¢ What is Computer ? :

Computer is an electronic machine. It accepts the information as ‘Input’ and after
processing it, it gives necessary output. Because of vast use of computer, there is
major change in lifestyle, working methods and to get knowledge.

e Application of Computer :

Drawing and colouring

Letter writing and report writing

Mathematical procedures

Formation of Cinema, animation, music etc

Playing games after downloading

Storage of informations

Communication through internet

Thus, computer is not a general but it is a smart machine.

 © & & & o ¢

[ Think : Where do you see computers ? J

Characteristics of Computer :

e Speed : It processes fast. Through it, millions of mathematical operations are
done in short time and thus save time.

e Accuracy : It does not do any manual mistake. So, it is really accurate and
trustable.

e Diligence : It does not fatigue or tired after performing same work many times.

e Storage : It stores every type of informations (words, digits, pictures, sounds
etc.) and you can see it wherever it is necessary.

e Multifunctional : It can do different types of works together. e.g. you can
listen music at the time of typing a letter.

N~
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e Remember :
Computer has no thinking power or decision power of its own. It works
according to the instructions given.

Now think : What are the difference between computer and humanbeing ?
¢ How does Computer Works ? :

Duta
Input | > Processing | oo 00 ™ Output

Instructions T

e Input : Data or instruction given to the computer.
® Process : Work done on the data according to the instructions.
® Output : Result obtained afier the process.

Input Processing Output

e Devices of Computer :

—
Input Processing Output
8.2 Devices of Computer

[ Activity : Know the use of different devices of computer in the computer labo-]
ra

tory, with the help of your teacher.

<>
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2. Processing Device :
CPU (Central Processing Unit) is Processing
device. It controls all the procedures of computer.

3. Output Device : 8.4 CPU Tower
(1) Printer : Information in the computer can be printed on the paper.
Three types of printers are seen.

—— B
Dot Matrix Laserjet Inkjet
8.5 Printers

(2) Monitor : It seems to be TV screen. We can see the given informations
and its result on it. Two types of Monitors are there.

-—“i_'c

CRT (Cathode Ray Tube) LCD / LED
(Liquid Crystal Display/Light Emitting Diode)
8.6 Monitors

Know about .. and ‘ | from your teacher.

4. Storage Device :

( Storage Device)
|
| |

( Internal ) ( External )
- 1
. I I I
_ & Ce g ’s
Hard Disk Floppy CD / DVD Pen drive / SD card

8.7 Storage Devices

'\"‘V@\
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Activity : Which parts are available of the computer in your computer lab ?
Observe it and make a list.

e Hardware / Softward :
e Hardware : The physical parts of computer, which we can see or touch is
called Hardware.

e Software : The group of necessary program to run the computer is called
software.
CD or DVD are itself hardware but Audio/Video present in it are software. CPU is

also a hardware but the different types of programs installed in it are called software.

( Soft:vare )

System software Application software
- window or linux e.g. MS Office or
etc. Operating System Open office

e Operating System :

Operating system is such a software program that it can conduct all hardware
connected with computer and also conduct other software programs. Generally when
computer starts operating system runs. Linux, Windows, Ubuntu, Mac, DOS, Unix etc
are the examples of it.

Without operating system computer is like body without soul. It is the orgin of all

activities of the computer. Generally, when computer switch on it starts its booting activity.

e Functions of Operating System :
e It can store the information in file or folder form and display again.
e When we work on more than one program on computer then OS can decides
how much priority is given to which work.
® In can update of its own internal real time clock. Through this we can know
about the time while preparing file or correction in it.
e It can give platform to open other application.

e It makes connection easy and arrangable between computer and its operator.

DU N o W Yy
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e DOS, Windows, Unix, Mac, Linux etc are the well-known operating system :

e Open Source Software : Source means software or program code. Open
source is a source code, which can available for all. User of open
source software or application use it or make a change in it without
paying charge to the manufacturer of open source software. User can also
distribute to other.

e Linux - as an Operating System : In the decade of 1980-1990 AD. UNIX
Operating System was freeware. Linux is also UNIX based open source
operating system. It is prepared by a person named Linus Torvald. Althrough
world's developers also contribute in it. Linux can download in free of cost.
Presently many versions of Linux are available. Like Redhat, Ubuntu, SuSE,
Fedora, Boss, Debian, Gentoo etc. Presently Linux's Ubuntu Version is given
to our schools.

¢ Ubuntu : Ubuntu is Linux based operating system. ‘Ubuntu’ is an
African word, it means ‘Huminity to others’. First addition is released
in 2005.

e Advantages and Disadvantages of Linux Operating System :

Advantages Disadvantages
e Totally free of cost operating e It is difficult to decide its modern
system. version.
e Available in world's 61 regional e Software prepared for Window
languages. Operating System cannot works
¢ Driver Files are not necessary. in it.

e It is secured.

e Deskiop :

When computer starts, operating system start loading, after given the password, to
enter into operating system, we can see the screen as shown in the figure, which is
known as Desktop.

DU N o) W Yy



—_— . A - ad o
Aﬂ B 8 : Introduction to Computer - 1 i pi

-

b Ai'pliuatun%@w« System @ 152 7 ) B9 fed Jun 200 10009 P
!_:.'\‘\ Places & System
W Menu
E . Application
g Start Menu

Jy‘ Leriirpizne?

syt

Show Desktop Task Bar
NI i \ '
7 o N\
L\ L o\ _

[ ] [zzzScreensdoc - Open..

8.8 Desktop

Activity : Observe the Desktop after starting computer. Compare it with shown
picture and discuss with your teacher.

e Parts of Desktop :
e Desktop Background & Icons : Give right click on the Desktop, a menu is
opened, now click on change Desktop, then dialogue box opens as shown in the figure.

o - Appearﬂnce Freterences

Tln—n rms Viglial Effects

H E PN
gl

o A

Style | Zoom w Colors  Selig colos
Help tinse
8.9 Desktop Background

~ Std. 6
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Now, from open dialog-box select a picture and click on the close button then
your Desktop background will be changed.

Activity : In the same dialog-box, from the theme tab, select New Wave'|
theme and click on the close buiton. Then select 'Radiance’ theme and click on the
close button. Now what changes occur in the computer, discucss it with your teacher.

appearance Freferences

Q-f‘iii-]llu.'l'-l' Fanty visus Effec=

3¢ Open :
J ) O) L
1L San Higghy Coiieast [ aal LAgE

]

Privt Inverse

Cusimmise. ISzl

Mip

8.10 Themes

o

Generally, on the Desktop different pictorial Icons are there as shown in fig. 8.8.
e.g. My Computer, My Document, Recycle bin ete. Through it shown programme
is opened in it. Generally Icons are the shortcut to start the programme.

( Activity : Open the different Icons as shown in fig 8.8 and then observe. ]

e Application, Places and System Menu :
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e Application button shows Menu-list to start different programmes.

® Places button provides alternative to move on different locations of
computer. e.g. Desktop, Pictures, Document etc. Moreover server is also
connected from this.

¢ In System Menu we can make settings of Keyboard, Mouse, Monitor,
Sound, Network etc e.g we can change Monitor resolution or position
by clicking on Monitor.

e File and Folder :

e File : A collection of informations, which is stored with a definite name
in the computer is called a File, according to the format of information,
different types of Files are seen. It is recognize on the base of File's
extension.

e.g., Sound File : Poem7.wav
Picture File : tiger.jpeg
e Folder : Group of Files and sub-folders are called Folder.

File Edit View Go Bookmarks Help

3 - - g @ ot & con view T U\
Placesv # ¢ 4.0 GB Filesystem Folder
s ol -
{3 Deskton i : ‘ ‘
i ey 583485658 Kap RECYCLER splpaah
sy Network s
e : |
4.0GHFile.. & ;
2 Trash |£J Lr_“_[. W
0 18-5-12.ppt. BALMELO BWN.doc P&M REPO.OX Research 12 doc
L Documents ™ fodtep od
i Music
T Pictures PJ \ T
' Vit S Mot-2 ; . i
A D'“ch | =oEs File Type OR Extension Files
‘£ Downloads / h_

| FileName L5

8.12 Folders and Sub-folders
e Operations related to File/ Folder :

(1) Creating New Folder : To make Folder give right click on Desktop
with mouse on the Desktop. From the given alternative select an
alternative of Create Folder then new Folder will be form. Suitable
name is given to it.

~ 8td. 6
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et Calculator

(1) Calculator : To do mathematical operations
computer contains calculator software.

iCaleufator Edit View Help

Activity : With the help of Calculator Application do

L B @
some simple mathematical operations. . ) .
1 i

e GEdit - Text Editor :
Application Menu — Accesories — GEdit
Create text document : 8.14 Caleulator
;[l--'i: Eclit lJ:":“h:u-:le?u:;:::ﬂ::J:u'l :::ltm!un F'"‘—-+ Menu Bar |

[ o Eateen v Wsave o) Q f\_k ]‘____
| O inewved Dosumin 3 3¢ Tool Bar |

MV Bﬂd‘f | Working Area OR Typling Area of GEdit |

| have very healthy body. | have two legs, hands,
eyes and ears, | am very handsome. | take care of
my body with daily bath. | love my body so | do
Yoga and Pranayam every day. It helps to keep
me fit .

MainText «+ TabWidth B+ Lml Call INS

8.15 GEdit - Text Editor

0

In the open window, type

the paragraph as shown in the \1 —
figure or given by your teacher. = =« ssmw

After that to store it in computer i s e
click on the Save button given :.T
in toolbar then a dialogue box ..
ol open as dhows: I Who: (g —
adjoining figure. R

8.16 Save File

e
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First given proper File Name to the File. After that select the place
where you want to save it. Then click on the save button, so the File save
as File Text Document.

Activity : Close the given program, then find the File prepared by you from |
File browser with the help of your teacher.

Now, open GEdit and click on the Open button of Toolbar, a dialogue box will
open as shown in the following figure. Open the File which you save after selecting
from its place.

& - [DpenFiles |
-/| Current Place Locatian |
# | _| home &gii
Places Nime T Slze Modified
Q Search [m Desktap 2143
S rRecentlyUs.,, 7 Doguments 2211
gl =1 Downloads Wednesday 14 September 2011
i@ Desktop s DRIVERS Salurday 17 September 2011
__ File Sydem & Music Saturday 21 Aprll 2012

My GCompris Tuesday 03 january 2012
/& Pictures Saturday 21 Aprll 2012
o4 Pubhc Salurday 10 September 2011

4 Documents

& Music
(4 Pictures Templates Saturday 10 September 2011
A videos + [ Spuniu One Tuesday 20 March 2012

LAl Files

| Select Place & File | | Press Open Button |
Character Encoding A,

8.17 Open File

e Edit Text Document :
For the correction in the given Document following useful commands

are important :

(1) Undo : To remove the effect to last work.

(2) Redo : To obtain again the Undo matter.

(3) Copy : After Copy the selecting Text it can move it at other place.

(4) Cut : To move selecting Text at another place, by removing the same
from original place.
(5) Paste : To paste the data at proper place which was Copy or Cut.

[ Activity : Use the above command in your typed paragraph with the help of]
Y

our teacher.

(129)
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e Search Menu : —
Search for, |
» A ‘\
From the given ptaragr?,ph, to find T g
word or phrase very quick. Find or search RSk
command is given in the computer. S Bk
w Viiap aound
. Replace “/I Type Searching Word | Tlose
Sedrch for f — )
Repince with: [ : 8.18 Find Dialog-box
Match entire word only | Give Replacement Word | TO Change deﬁnite W'Qrd or phrase
Search backwaids with aDOther word or phrase’ Replace
& Wrap wound command is used.
Cloae
8.19 Replace Dialog-box
| = search for-Flies
e Search for File : | — .

Any File in the system can be v ‘I\
+ Sefect more opfions Searchfile name, part of name or extension
find with their name or alphabets of

name or extension.

slides

Pl

Activity : Type - Rose.jpg, P*.jpg,
*home.jpg, *.text, *.* and find it.

Searching result area

‘ tiein (A fiirsd

e Graphics Software 8.20 Search for Files

Application — Graphics — openoffice.org draw

Urttted 1 - Bpsooffioegng T

Dimid  Milily Wi Bl

. - LT S F & G T
N =- IR My ot = a, ]
Fagus / m 4 28 1 g [FRT F+

| Line and Filling Tool Bar |

Work Space
Drawing Tool Bar 3
. Layou D= U
& - AW -~ -4+ B == I
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Digital drawing can make with this program, also with the help of

different tools given in the software, different designs can make easily and

also fill up the colours.

As shown in the screen, for drawing special two Toolbar are used.

(1) Drawing Toolbar : In it line, shape, object, font work, speach

balloon etc tools are there.

(2) Line and Filling Toolbar : Here after selecting line and colours, it

can be used.

Activity : Draw the picture from geometrical figures and fill up the colours.]

[e.g. Kite, Temple, Home, Sun etc.

When you give Save command from File Menu or Toolbar to the drawn
picture then dialogue box will open as shown in the figure. Fill up the necessary
data and save it. Your picture is saved with ' .odf"' extension.

| Drawing Tool Bar |

Drawing

L / —

AW -°

. —

Save

S

| = K-

£aDrmviin gL

I

LIVe pICLUN e FlIE INgrmie

LGocuments

File Type

| Select Place |

on

L]

8.22 Save

® ¢ ¢

| Save Buttan |

Ca Sz
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